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E mustafa@mustafapc: ~/Downloads
mustafa@mustafapc:~$ cd Downloads/
mustafa@mustafapc: ywnloadsS chmod +x Anaconda3-5.1.0-Linux-x86 64.sh
mustafagmustafapc:~/ 1 sS .fAnaconda3-5.1.0-Linux-x86_64.sh
Welcome to Anaconda3 5.1.0

In order to continue the installation process, please review the license
agreement.
Please, press ENTER to continue

3>

Anaconda End User License Agreement

Copyright 2815, Anaconda, Inc.

All rights reserved under the 3-clause BSD License:

Redistribution and use in source and binary forms, with or without modification,
are permitted provided that the following conditions are met:

* Redistributions of source code must retain the above copyright notice, this
1ist of conditions and the following disclaimer.

* Redistributions in binary form must reproduce the above copyright notice, th
is list of conditions and the following disclaimer in the documentation and/or o
ther materials provided with the distribution.

* Neither the name of Anaconda, Inc. ("Anaconda, Inc.") nor the names of its c
ontributors may be used to endorse or promote products derived from this softwar
e without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE COPYRIGHT HOLDERS AND CONTRIBUTORS "AS IS" AND
ANY EXPRESS OR IMPLIED WARRANTIES, INCLUDING, BUT NOT LIMITED TO, THE IMPLIED WA
RRANTIES OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE ARE DISCLAIMED.
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Rename Notebook
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Python Regex Cheatsheet

Quick Filter

Regular Expression Baslcs Regular Expression Character Classes

Any character except newline [ab-d] One characterof: a. b, ¢, d I Ignore case

a The character a [*ab-d] One character except a, b, c, d * and § match start and end of

m
ne

ab Thea slring ab [\b] Backspace characler

| matches newling as well
alp aorb W One digit

x Allow spaces and comments
a’ 0 or mare a's ‘D One non-digit

L Locale character classes

Escapes a spacial characier ] Ona whitespace
u Unicode characler classas

5 One non-whitespace

Regular Expression Quantifiers

{7iLmsux) Set flags within regex
W One word characler g

0 or more
W One non-word character Regular Expresslon Special Characters
* 1 ar more
\n Newline
? Daor1 Regular Expresslon Assertions
\r Carriage return
{2} Exactly 2 Start of siring
it Tab
{2, 5) Between 2 and 5 Start of string, ignores m flag
WYY Octal character YYY
=2} 2 or more End of string

Yy Hexadecimal character Yy

Upto 3 End of siring, ignores m flag

Word boundary Regular Expression Replacement

Non-word boundary

\g=<0= Insert entire match

Puositive lookahead \g<Y> Inseri match ¥ (name or number)

Capluring group

(7.} Megative lookahaad W Insert group numbered ¥

(7P<¥=>_) Capturing group named ¥

(7.} Mon-capluring group {?<=...) Posiiive iookbehind
W Match the Y'th captured group (7<L.)  Negative lookbehind
(7P=Y) Maich the named group ¥ 0N Conditional

(7.} Comment

New to Debuggex? Check out the regex testerl

SbgSe duss 9 5hoiwVl Jud acwlball yuledl ppd 88 Jlgiwe sV o lodl Lass 0idg
https://developers.google.com/edu/python/exercises/baby-names : w,s3JI

[https://www.analyticsvidhya.com/blog/2014/11/text-data-cleaning-steps-python
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(21 9 20 Grwwyl) Lpilp=lg go Joleill 44.Sg ying=g l1gSUl doj> anais -2

SlaeSUl Spaiig &S &asS e b Jlio oSl Sywazedl Guyal 1id o slpuVl Judg huslg
L ywg> dp>lg (8

In [B]: 445

Out[8]: 9

In [12]:

In [13]: | print{c)
400

In [14]: first=int{input('Enter the first number' ))
second=int(input('Enter the second number'))

#3001T10

print(first+second

Enter the first number33
Enter the second number55
g8

oliSo e sl Iaow all sbis Ol pslal Gu, )l (539 ol 13g) lisw,s (g Ld (sl
lddaiall JS| (sle lgo,>0 (logac Ll ple) GLLl Julxig dxdleoy dwolzdl wgub
all el Ol geozl) (5499:Ug psla)l Gw,adl Jud oMel 6,55 3ol
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asylio © sl 28 uS Ol oSJg 1gSUl o> go Wlals anais silis (ple JSiiw 83l
r sJU bl o @Sl 048 wwaii HSowd Syl dvnie e Jolly Gw,eS
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oLl (89 oS sl uiwl a2 39S Sl (8 Lpolaxiowl Sy auSoll 048 s Ay
from numpy import *
+ Jwaaidb @uSell 0id wlgsl go Joledl Taus) WYlg

WgSi (sl duiiliall Wlgeanll 98 duiSall 0id wlgsl aze Jole Sl (sund))l yaisll
lpsiw 8 ping (Gurine 9l G0 slacl) egill Gusi lpd oIS o)l (Sgizxi Jgla> o Logac
sacg (axis) joxo (o Wldga.aoll 04d slal o A= JS9 Ao @u>g90 pud plaziwl

Adg9.00l) (rank) &, Jl (swouuy j9l=oll

lpic szl S0y > sVl ol slind (s @i wlilas] 98 wlgaacll 0ia (sle JlinS
W JSoab
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In [1]: | coordinates=[1,2,3]

In [2]: |printicoordinates

[L.:2e 3]

(ndarray) locgi UsSs sillg (NUMPY) @9g8.00S ad,20dl @dgs.a0ll u (8sy0l Lz WYIg
o9 (array) lpegs 0sSy wsally baad sadl aslol 0gSs (sl duenball Ugl a8 Cligann G
rsd (NUmPyY) JI wlgean auSod wlgsVl ;0

Jiou Ll 929 Lo @9g8.000 Lolzl stV gl jglxeall sac slac) pazswsy (ndarray.ndim) -1
10Ul Jbodl (08 oSy @9ga.a0ll (rank) &,

In [1]: from numpy import * BaviSe 3l saiwl NumPy
a = arange(15).reshape(3, 5) # 14.J/

In [2]: &

Outf[2]: array([[ ®&, 1, 2, 3, 4],

5. & T, B, 9}
(18, 11, 12, 13, 14]])

In [4]: a.ndim

Qut[4]: 2

adg.00 iyy2is lod o5 JoVl Hlaudl (88 (NUMPY) auSoll shyuiwl @ladl Led sy LS Lag
ol Lelo= Led o5 (arange) alls plaziwl 14 Wl 400 oo o8,V o weSiis (@) Lpouwl
bl sedly yolic 3 (sde (oWl sodl) sl JS (Sgize Capmer adsy o VS Adgauo
.(reshape) &ls plazxiwl yolic 5 (sle (8a0cV)

arsin 115 (2) petzoll @od aclio cuasd sl 3 (sle Uy p5 Lot (2) Wiy Liod el s,
al>

print(a)
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S| 2 asesidl <ol8s (ndim) 8lsVl plaziwl (3) @dgsanll slal sac @9,20 by Liod Tuslg
[(820clg WBg0.0) = o WS gl

a9gs.a0l) 5,3V sVl aus,9 da0cVlg WBgaall sac a9,20) paxiwig (Ndarray.shape) -2
10Ul (9 loSg 30V 5 g Wganall 3 Ulg=dl UgSuw 0id Lulls (sdg

In [3]: |a.shape
Dut[3]: (3, 5)

patll Lo Jol> dsle gdg adga.00ll Jolie) sJSJI a2l aclda) paxiuig (Ndarray.size) -3
rosJWl Jladl (08 loSg asyLudl dlludl o axslll

In [3]: |a.shape

ut[3]: (3, 5)

In [7]: |a.size

it[7]: 15

9 loSg ad9ga.a0ll J3I> (8 pusll gl Wl uioll g9 aclda) paxiuig (Ndarray.dtype) -4
:oUs| Jlodl

In [15]: | a.dtype
Out[15]: dtype('int64')

In [16]: | a.dtype.name
Out[16]: 'inté4®
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yolic o yaic JS lpdeiny ol wlulWl sace aclda) pazeiwug (Ndarray.itemsize) -5

64 Jiuiv il whusioll g3 o Ul sisy ligd (l0at64) susiall goi OIS o) JlioSs adgimnll
0bs] Jliadl iy LaSg 13889 v 8 Ssluy gl JS ol Byei iV el 8 Selus wsilly <

In [16]: a.dtype.name

Qut[16]: ‘'inté4"

In [6]: |a.itemsize

Qut[&]: 8

In [17]: b=zeros([2,3.4])

b
Out[17]: array(I[[ @., ©., @., 6.],
[ 8., B., 8., 86.],
[ Bug By Bep 813,
I[ 83 , 8., 0.]

In [18]: b.dtype
out[18]: dtype('float64")

In [19]: b.itemsize

Qut[19]: 8

piy Vg @d9ga.a0ll pud o= Lozl 8,S13Jl g9g0 Lo ,2) VI 13d piaziwug (Ndarray.data) -6
Jlioll axog oSy (seubll plaziwW (g 8,513l 8,15V auao Jasd &V sl aolsziwl
osJUdl
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In 17}

Out[17]:

In [18]:
Out[18]:

In J19]:
Out[19]:

In [28]:
Qut[20]:

b=zeros([2,3.,4])

b
array([[[ e., @., @., 8.],
[ 8., 8., ©., B8.],
[ 6., 8., 0., ©.]],
[[ 8 G 8y 8: ]
[ 8. @ 8 8l
[ 8., @., 9., 8.]1])
b.dtype

dtype('float64')

b.itemsize

8

b.data
=memory at @x7f16941f1408>

JoSiiwg NUMPY &40, Lginl @iSo go Joledl &S 2y oo JoVl 5l (g Lid sl
Lo lgalid alll <L ol aoslall <l3>Vl (sd oS0
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sl e5=Jl NumPy auSo :23-0ugil

pSale oMol

;W] geolgodl sl 1is (sd Jglitiow

NumPy auSo 9 wldgaaoll <Liwl °
wloge.noll aclib °
wldgeaodl (sde wldosll °

wlogs | Ll

@, o Blbadl jwyl (8 a Ld,h Lo Lpiog waib dely wldganall slisV B,b sic Jlis
r sJUJl Jiodl (08 loSg 8 miulio jolisdl ()S39 a9gaa0 ail (sle jusio =i o5 NUMPY auSo

: | from numpy import *
a=array([1,2,3,4,5])

a

. a.dtype
[2]: dtype('int64")

1: array([ 1.2, 3.4,

: b.dtype
1: dtype('float64')

[1]: array([1, 2, 3, 4, 5])

5.6,

. b=array ([1.2,3.4,5.6,6.8])
b

6.8])
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S,5Vlg dsuzs lpeg ladas! Huidgaan wayyen lod 189 oMcl 6,5.a)l 59 zuolg 68 oS
wligean ey (ULl go a>lg g0 gl A>lg o) A>lg a2 o WS LadMSg & yuine
daocly Bgaw yiw JowMowd! @lowdwg 3>y o yisi daxlodl alwdwdl Ol sl é5a:0
13Sg eVl a5\ a9gans i JowMaw oo @gSindl JowWwd! @dlwdw iSs

In [9]: |c=array([[1,2,3],[4,5.6],[7.8,9].zeros(3)])
C

Out[9]: array([

In [11]: d=array{([[1,2],[3,41,[5.6]1]1, dtype=complex)
d

Out[11]: array([[ 1.4+8.j, 2.48.j]
[ 3.+0.j, 4.+40.7]
[ 5.40.j, 6.408.j]

]

1)

3*4 Wsleyl JVI (uidg0.00 Huui oMel 8,5.0/l
als plazuwl lpay, 20 Lod s lavl (o wgSiu lpio sVl iy
zeros()

g9 b= lod > A4S0 dyolic g9ig (rd9acy Beso G o LS ALl Agsanlly
als plaziwl Lolsll

dtype=complex

.adgancll yolic slasi o slpiVl sy

21



lpoz> ,SJs Q99,20 e W olic WESH 18 Wliganoll VB axo | Wle) (59 Bg,20 9 LaS
daasoll 8,513l Ol Cus a2 lowd Jasw 38 Sl JU,MW luss aladl oo ass,s o O oo
ae) (o9 vectors wlpiell saclall 03 e duivg) oy, dic Lo 32 Ol Loy @9ga.nol]
(>l 831510 Adga.a0) Wlpxio dac gl (A>ly Aey) Axio Wyl HSoy G pads pudy o
(o=l 3axs Vg

plaziwl @l 8 sl b olic ,S3 Vgl adgann wa,eid B,b dac Ugul agl L9959
Jlgs

zeros(n,m) :
(M) lpiaocl sac9 (N) lpdgao sac )lanl o VS Adg0.a0 o)y
ones(n,m)

Lowd 1 s Sou dgl pusS wlaslgy @8ganoll £ Lo pazins Lpisly daludl @l jus

Ay
empty(n,m)

8 oSy (float64) lpcei aulginc puts adgannll Moi piSly adsLudl Jlgadl s Josig
ra Ul ablioVI

22



In [13]: | e=zeros( (3,4) )

e
Out[13]: array([[ ., ©., 0., 0.1,
E By Bip i 8L
LBy By B BAELR
In [14]: f=ones( (2,3,4),dtype=intl6) # oles ¥Vl a7 a9 gdian
f
Out[14]: array([I[[1, 1, 1, 11,
1. 1, 1; ‘11,
ET: 1; X A1)
i3 1, ¥ 1l;
[1, 1, 1. 1],
[1, 1, 1, 1]]]1, dtype=intl6)

In [15]: g=empty((2,2,2))
a

Out[15]: array([[[ 6.94981335e-318@, 4.67495645e-3108],
[ ©0.00000000e+000, f.00000000e+000]],

[[ 0.00000000e+000, 0.00EEEEERe+B0E],
[ ©.00000000e+000, B.0eEEEEEEe+BB8]]])

sl (arange) als plazviw! guaiws uiowd o @owdowio pB)| o WS @dgaan £linV
W Jbiadl Lo i sl bl Gl o8 ol Ol e

23



In [18): |h=arange(2,4.9.1) # 8.1 >liue 4 adoll Lpiise 2 s lls lawr adpimes

h
out[18]: array([ 2. , 2.1, 2.2, 2.3, 2.4, 2.5, 2.6, 2.7, 2.8, 2.9, 3.

3.1, 3.2, 3.3, 3.4, 3.5, 3.8, 3.7, 3.8, 3.9))
In [19]: i=arange(15)
1

F-Il"JI EFFEI}I'[[ Br 11 2i 3’1 ql 5: Ei ?r E't gn lﬂl 11! 12: 131 14]:

In [208]: j=arange(l,15)

]
Out[2e]: array([ 1, 2, 3, 4, 5, 6, 7, 8, 9, 18, 11, 12, 13, 14])

In [21]: h=arange(1,16,2)
h
Out[21]: array([ 1, 3, 5, 7, 9, 11, 13, 15])

als sd @l aosd login Blally uioud o 8,1 2t dorseol] s, VI @l

ALVl (9 LS9 Wlanvlgoll jusiug GMilodl (9 dozuiwoll Al juss g (linspace)
ra Jull

24



In [22]: k=linspace(8,2,18) # array from 8 to 2 with 18 elements
k

Out[22]: array([ 0. . 0,22222222, 0.44444444, 0.66666667, ©.B88888889,
1.11111111, 1.33333333, 1.55555556, 1.77777778, 2.
1)

In [23]: 1=linspace(8,2*pi, 100) pi=3.14
1

Out[23]: array([ 0. , ©0.06346652, 0.12693304, ©.19039955, 0.25386607,

0.31733259, 0.38079911, ©.44426563, 0.50773215, 0.57119866,
0.63466518, 0,.6981317 , ©0.76159822, 0.82506474, 0.88853126,
0.95199777, 1.81546429, 1.87893881, 1.14239733, 1.20586385,
1.26933837, 1.33279688, 1.3962634 , 1.45972992, 1.52319644,
1.58666296, 1.65012%947, 1.71359599, 1.77786251, 1.846852983,
1.98399555, 1.96746207, 2.03092858, 2.8943951 , 2.15786162,
2.22132814, 2.28479466, 2.34826118, 2.41172769, 2.47519421,
2.53866073, 2.60212725, 2.66559377, 2.72986028, 2.7925268 ,
2.85599332, 2.91945984, 2.98292636, 3.04639288, 3.10985939,
3.17332591, 3.23679243, 3.30025895, 3.36372547, 3.42719199,
3.4906585 , 3.55412502, 3.61759154, 3.68185806, 3.74452458,
3.8079911 , 3.87145761, 3.93492413, 3.99839065, 4.086185717,
4.12532369, 4.1887982 , 4.25225672, 4.31572324, 4.37918976,
4.44265628, 4.5061228 , 4.56958931, 4.63305583, 4.69652235,
4.75998887, 4.82345539, 4.88692191, 4.95038842, 5.01385494,
5.07732146, 5.14078798, 5.2042545 , 5.26772102, 5.33118753,
5.39465405, 5.45812057, 5.52158709, 5.58585361, 5.64852012,
5.71198664, 5.77545316, 5.83891968, 5.9023862 , 5.96585272,
6.02931923, 6.09278575, 6.15625227, 6.21971879, 6.2831853

1])

2uogig ol i Lo wsisSiow Wil VI wligaand! slinV s,5V1 wlgsVl o Sl s ol pg,)
ow9S)l WlgSe audy &y sl bsws 18] &l

rsJWl bl 8,05 Siew NUMPY &usSe wlgsl JS sde g MbMJ

GitHub Jl . sJe NUMPY a=é.o 6,L3J La sl

25


http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#array
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#array
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#array
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#array
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#array

wlogs laclb

al> plaziwl) By sl Lo,9)l ady by (Bslel) Assanll goi (sle Tely B,k das piig

In [24]:

Out[24]:

In [26]:

Out[26]:

In [27]:

out[27]:

:(lulw WUL,SS sl reshape

a=arange(5) # one dimensional array
a

array([e, 1, 2, 3, 4])

b=arange(16).reshape(4,4) # two dimensional array
b
array([[ &, 1, 2, 3],

(4, 5 6, 71,

[ 8, 9, 18, 11],

[12, 13, 14, 1511)
c=arange(24).reshape(2,3,4) # three dimentional array
o
array([[[ &, 1, 2, 3],

[ 4! 5: aa ?]J
(8 9 10, 11]],

[[12, 13, 14, 15],
[16, 17, 18, 19],
[28, 21, 22, 23]11)

r W eV plasiw] (Soy wldgeanll yo,e as) )b usel

set_printoptions(threshold="nan")

alolS adg0.00ll acldy (sde NUMPY auSo juzew Sillg
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d 2wogo oSy S5Vl dmo | wle) lpacss il wligaaall (sle wllas)l gaos syl (Sou
:a Wl alioVl

In [29]: a=arrayl([[1,2,3,4],[5,6.7,8],[9,10,11,12],[13,14,15,16]])
d

out[29]: array([[ 1, 2, 3, 4],
E5. 6. 7. 8l.
[ 2, 18, 11, 12],
[13, 14, 15, 16]])

In [31]: b=ones((4,4))

b
Out[31]: array([[ 1., 1., 1., 1.1]
ol A N T
| A Ui [ 1 |
[ 'Ly 1o 1o 11D
In [32]: c=a+b # array addition
C
out[32]: array([[ 2., . 1 4., 5.1,
[ 6., 7., 8., 9],
I e 1d. 325 313:].
[ 14., 15., 16., 17.11}
In [33]: d=a-b #array subtraction
d
Out[33]: array([[ e., Xz - 3.].
[ 4 D.; 6., il
[ 8., 9., 18., 11.]
[ 12.., 13., 14., 15.11}
In [35]: e=a*b #array multiplication
e
Out[35]: array([[ 1., 2 3 4.].
I B B 70 B
[ 9 280 1: A2 1
[ 13., 14., 15., 16.11)

&9ga.a0ll o yaic JS Uyal pazinws (¥) urall daoMe uld (gluwdl Jiodl (b zuoly 98 oSy
element-wise multiplication _swouuw b gl auldl adga.a0ll o alilio 9 (sJoVI
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dot(a,b)

In [36]:

Out[36]:

In [37]:

Out[37]:

In [38]:

Out[38]:

In [39]:

Out[39]:

In [40]:

out[40]:

als pazioww Guidgaas Hw SslacVl u,all <l ,=>YVg

10,52l pusgd alio)l o Syl dcgoxo 0idg

b

array([[

el B =
e

—

W W ww
Wy

a=10*cos(a)
a

array([[ 5.40302306, -4.16146837, -9.89992497, -6.53643621],
[ 2.83662185, 9.60170287, 7.53902254, -1.45500034],
[-9.11130262, -8.39071529, ©0.04425698, §&.43853959],
[ 9.07446781, 1.36737218, -7.59687913, -9.5765948 ]])

a=a<0 ¥ aeSs b atl gixs will uaixdf True

a

array([[False, True, True, True],
[False, False, False, True],
[ True, True, False, False],
[False, False, True, True]], dtype=bool)

c=dot(a,b) #matrix multiplication

oh Oh WO
S h WD
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Jouii wligaacdl (se Josi sl S35Vl Jlgadl o dcgoxo
a+=3 ==> a=a+3

a-=2 ==> a=a-2

b*=a ==> b=b*a

|3Sag

2ol ggill (8 Aalixo Guidstan L ddoc Sl sl ol 25b ol Ly 9l o> > 1@da>Vo
&S 10 dlacl @9gan00 dsus slacl @950 Luys 151 JionSy (Vgoui SV gl) uSVI godl 35k
13889 &S0 slacl @9ga.m0 zulll LS,

a.sum()
A>lg p3, 59 lplS (a) Wsaanll jolic gox @il (sdass

a.min()
adgaanll (59 yaic 2ol Aosd gy

a.max()

&9ga.a0ll (59 yaic 1Sl doud 8>
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ol bhid s (sle Winain pgis Ol Us,l I3 Sy JSS adgannll sle pii wllosll 0id JS
ra Ul aliol (9 aSq (axis) alls paziwsd bhad bxocl

In [41]:

out[41]:

In [42]:

Out[42]:

In [44]:

out[44]:

In [45]:

Out[45]:

In [46]:

Out[46]:

In [47]:

out[47]:

k=a.sum()

k

8

t=c.min()

1

3.0

b=arange(12).reshape(3,4)

b

array([[ o, 1, 2, 3],
[ 4, 5 6, 7],
[ 8 9, 18, 11]])

b.sum{axis=8) #sum of each column

array([12, 15, 18, 21])

b.min(axis=1) #min of each ri

array([o, 4, 8])

array([[ e, 1, 2, 3],

[ 4, 6, 8, 18],
[12, 15, 18, 21]11)

1 of

b.cumsum({axis=0) #commulative sum alc

a
1]

% T iarm
each column

JoVI yaiell Ul olizo sg0c gl waw SV (cumulative sum) cseS|ul dcgoseall 16,u51 @la>Vo
Jols ugSy Wl yailly silidlg JgVI paisll go> Jols ey (ol paielly duwss (s
liSag cJWly wsulidly JgVI yaisll g

30



Il e 5=l NumPy awisSso :24-ugqil

oSule Ml
:a Wl guolgoll oo Gamiiow Gyl 11 (58
NUMPyY &S o095 sl dolell ol Jl Jlgall e

wlogeanll J5Is wlhlgally wWldgaasdl pu,wivig &= °

Wl oL, JigMI

go Joled) NUMPyY &iSo 18,995 sl bVl GluolJl Jlgs Go 1S5 (aw Lo sl @9l
@l alioVl lpxiogs silly Lpan 5)>| degazo 1393 pild wligaanlly o8,V

In [2]: from numpy import *
a=arange(4)
a
wt[2]: array([e, 1, 2, 3])
In [3]: b=expla)
b
Out[3]: array([ 1. , 2.71828183, 7.3890561 , 20.88553692])
In [4]: c=sqrt(a)
C
Dut[4]: array([ @. ol 1.41421356, 1.73205881])
In [5]: d=add(b,c)
d
out[5]): array([ 1. . 3.71828183, 8.80326966, 21.81758773])

oMl 8,50l V=LY

31



8 5olic 4 o LS @ghan e lind pi Joll Haudl xd d@uSoll sluiwl Lod il
ol ]

exp()

adg,20ll LVl &ls (s

sgrt()

il izl dls

add(a,b)

Wl ol (58 Lpic aliol go skl (;Sioud Jlgall dusy Lolg

NumPy auSo 8,995 (sl dunl,Jl Jlgadl s

wl9as | Ui

) owrpddl IS o Loud yaic Sl (sl Jgogll Sowd axlgl asdl ls logaacl) dwilb
ra Ul aioVl (8 loSq a4 Lolzdl (index
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http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html

In [6]:

out[6]:

In [7]:

Out[7]:

In [8]:

Out[8]:

In [9]:
out[9]:

In [1@]:
Out[le]:

In [12]:

Out[12]:

e=arange(10)**3 # oflill wulJ acgs o arwilly simtl 3uy olinl] s ghas
e

array([ ©, 1, 8, 27, 64, 125, 216, 343, 512, 729])
e[3] I | )
27

cl3:8] B ladls e lsitls-ma 01 sulialdl

array([ 27, 64, 125])

e[0:4] Hie tadl o1 Joil e smbeadl ablih
array([ @, 1, 8, 27])

el:d] # Loles g lall ta ¥l )i

array([ 4, 1, 8, 27]1)

E10:6:21955 B utl JoVl go ibgiant]l swlic seid Jezl oliss plasVP Iia

# 1 5Cy wotslly allills oW b 2 jlakes supitl soliiy a8 55ty 55 gwalutl
e

array([ 55, 1, 55, 27, 55, 125, 216, 343, 512, 729])

;e Wl @il pasiion @dgsnoll LuSs)

tsJWl JlioJl (s WaSg Layl (for) plazeow! o,Soy @dgaanll olic oo Jaxl)
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In [15]: for i in e: # 9 pdes o llint sasnXill ixlt! ac L b
print (i**(1/3.))

. 80295246076
.0
.86295246076
.0
. 80295246076

W~ W= W

e I [ e e R e

In [21]: for j in e[:4]: # a5 gdanll jo yolic 4 Jol g0 as U
print(j*j)

36825
1
3025
729

In [28]): e

out[20]: array([ 55, 1, 55, 27, 55, 125, 216, 343, 512, 729])
989 A>lg 8,9 go oMel Laslazdl Juss plazowl Souxd sleVl ésa2i0 Gldgaanl) @il bl
oLsl Jloll (59 loSg (uibnsi dgaie adgaanll puwl (sJl Blai 8sasiell sVl ol
a[3,4]

1S9 (3) @gamoll (o ol sgosll i)l Gall (58 il oo

10Ul (o9 alioVl o 20
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In [22]: def fla,b): #opu gusind ally we i
return 5*(a+b)

t=fromfunction (f,(3,4), dtype=int) # alls o 49 gdun s ses
t

out[22]: array([[ ®, 5, 1@, 15],
[ 5, 18, 15, 28],
[18, 15, 28, 2511)

In [24]: |t[2.3]

out[24]: 25
In [26]: t[©:3,1:3] FZ-T e ooaedly 2056 deaakl e boadlar b

out[26]: array([[ 5, 18],
[18, 151,
[15, 28]1]1)

In [27]: t[1:3,:] Woallills o lad] ianll diseVl I iclib

Oout[27]: array([[ 5, 1@, 15, 20],
[18, 15, 28, 25]])

JS) alols Wa,lic! piw sVl &uisd adgannll slal oo J3I skl oo sac 1gyi o 15
10Ul Jliadl (59 loSg (8a0cVl S gl Wgaall

t[5]
a0Vl JSe Lwslud! aall olso

t[:,3]

2l sgoslly beaall JS laliso
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|ASag
U el plaziowl Sowd 2 o S sl wls adgsan (e juueil) SUiS

al2,2,:,:,:] ===a[2,2,...]

1S5 Weu Lpie el 3y il sVl o sac sl da (4)) Ml bladl plazcw! Sou @l i

DI>xo p9,

sgaioll puogi a Ll alioVl

In [28]: c=array( [ [[ O, 1, 2], # 0f s,lie g Sl M gt ifgdas
S [ 16, 12, lj]], 3 |I_'\_,..n...L Jef J ey Vi anr L Uil g

[[100,101,162],
[110,112,113]] 1 )

In [29]: c.shape
it[29]: (2, 2, 3)

In [31]: |cll, =] #oguii Cf[1,:,:] pmiiqg cf[1]

Out[31]: array([[18@8, 101, 182],
[11e, 112, 113]1])

In [32): |cl.:. 2] # uis Cf2,:,2]

out[32]: array([[ 2, 13],
[182, 1131])

36



9 loSq JgVl jg=ollg (for) plaziwl ;Swou sVl 851210 ad9ga.a0ll Wlhgixo w9 Jaiillg
r sJUl JLoll

In [33]: for row in c:
print(row)

[[e 1 2]
[10 12 13]]
[[180 101 102]
(110 112 113]]

In [34]: for element in c.flat:
print (element

8

1

2
10
12
13
100
161
162
118
112
113

Byl 131 (> 8 (For) plasicwl @8gamcll Bgas dclb oo liSo JoWI Jlindl 0l s\l s
sl JloJl (8 LoSs (flat) ala @lewll Souwd sleVl é31si0 @dganall olic JS dclb

oSy wligaacll weMil) NUMPY duSeo W95 sl WlgsVl ope suzoll @8,0) Truslg
o) sily bt ) wligaanll go Joleill Jlgll JS Sgiz Silg oMel byl )b alsiw
(PR
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| 52l NumPy auSo :125-0gil

pSale oMol

ra Ul guolgodl pgudl Luw,s Joliy

dic (oJl da>lg A9g0.00 Wiz« puid99.00 gwod (JSidl i) Adga.a0dl JS i e Ml °
(wlgeaoll Lo,2ll gleily Fuwsd]l (w8900
Wldga.00ll eMill anlell Jlgadl o dcgoo °

(©a>g Ul S,3V sleVlg saacVly Bgaall sic) &9ganoll slal Lo,2) (shape) alls oiiws
1oLl Jliadl (59 oS pasiwis

In [4]: from numpy import *
a=(random.random((3,4))) # atleac ald ;] ddgdme aptfei
a

[ .21952788, 0.85474983, 0.14431023, 0.860809309],
[ ©.83035431, 0.0472052 , ©.4532913 , ©.66694021],
[ 8.37475105, ©.18329479, ©.96364733, 0.16649516]])

Out[4]: array([

In [5]: a.shape

out[5]: (3, 4)

Jlodl (89 laSq (ravel) als plaziwl gldaiws 3>lg a2 (sl @dga.a0dl Jug=i pid WVg
sl

38



In [6]:

a.ravel() # asls an, ! aSgdwal! Lo=nil

Ooutf[e]: array([ ©.21952788, ©.85474983, 0.14431023, 0.56809309, 0.83035431,
0.8472052 , ©.4532913 , 0.66694021, 0.37475105, 0.18329479,
0.96364733, 0.16649516])
In [7]: a.transpose() # vgde saacVWlg daac! wedall Llil
Out[7]: array([[ ©.21952788, 0.83035431, 0.37475105],
[ ©.85474983, 0.0472052 , 0.18329479],
[ ©.14431823, 0.4532913 , ©.96364733],
[ ©.86009309, 0.66694021, ©.16649516]1]1)
In [9]: a.reshape((2,6)) # adgiamat] SSo siisii]
Out[9]: array([[ ©.21952788, 0.85474983, 0.14431023, 0.86089389, ©.8303543
1
0.8472052 ],
[ 8.4532913 , 0.66694021, ©.37475105, ©.18329479, 0.9636473
3,
0.16649516]])
In [12]: |a.resize((6,2)) # adgdamall azz suaiil
a
out[12]: array([[ ©.21952788, ©.85474983],
[ ©.14431023, 0©0.86009309],
[ 8.83835431, 0.0472052 ],
[ ©.4532913 , 0.66694021],
[ ©.37475165, ©0.18329479],
[ ©.96364733, 0.16649516]])

ra il Jlgall aliol dae s oMel 8,50l
Yge.0 daocVlg daocl Bgaall LU go adga.asll b ,2) transpose
(Lol JSiid] jusi Ug) @dgsanl) Jua> JSow Lo, reshape

ol JSeiw adoVl adgennll JSiu yuusi resize

39



1) Ll sl ool o wlwsdl sal lised @alw o8, sleil Loasiow! 131 1édas>\o

In [15]
ut[15]
In [18]
ut[18]
In [19]
Out[19]
vstack((a,b))
hstack((a,b))
column_stack((a,b))

: a=ceil(le@+*random.random({2,3)})) # 2%3

5]: array([[ 1., 6., 4.1,
3.]

: a.reshape

19]: array([[

raJUdl alioVl (59 laSg (8a0cVl g Bganll LS

: : I |
dav | gt d¥ gdme Jdudtgu

a

[ 5., B 3.11)

[F, - ll L) acwni L G L _,';*_L ity A -'._r_. wad Liv 3 las V] 2> ol

(
1
6
1.1,
5
6
3

—
L L I eSS
- -

ATH
tUgw w9900 dAE 2wd

ra Wl WlgsVl plaziow! gulasiaws

oVl adgancll Lol aslil adgancll gog

oVl adgancll o sJl dslil @dganoll gog
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oVl adgancll Jawl aslil adgamoll gaug sell @uslsl lbganoll has iz

row_stack((a,b))

oVl @8gan0ll uow sl ddgannll gaug asdl dslsl wliganal) had pasiwy

&S auogi a Ul alioVI
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In [20]: a = floor({l@*random.random((2,2)))
a
Out[20]: array([[ 6., 3.],
[ 5., 86.]11)

In [21]: b = floor(l@*random.random{(2,2)))
b

Qut[21]: array([[ 7., ©.],
[ 4., 2.]])
In [22]: c=vstack((a,b))
o

Oout[22]: arrayl([[ 6.
5.
7.
4.

MDD W

(
(
[
[

In [23]: d=hstack(({a,b)})
d

OQut[23]: array([[ 6., 3., 7., @.],
[ 5., 8., 4., 2.]])

In [25]: a=[1,2,3,4,5]
b=[11,22,33,44,55]
c=column_stack((a,b))
d=row stack((a,b))

o
OQut[25]: array([[ 1, 11],
[ 2. 221.
[ 3, 33],
[ 4, 44],
[ 5, 55]11)

In [26]: d

Out[26]: array([[ 1., 2., 3, 4, 5],
[11, 22, 33, 44, 55]])

o oo S| skl ols wlbgannl) dwill

ol a2l a2s wleganoll o3, peis hstack

JoVI 32l a2y wldgaanll p;,5 vstack
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In

In

ra Ul oVl (9 laSg hsplit alls plasiwl poug

: a = floor(18*random.random((2,12)))

a

arrayCll ;. &, 9. 8iy 3 B T o4y L.y 8 B Tl
[E e U2y S BEy G oAl ES ey 9., 7.11)
hspllt{a,a} wEl > 3 WM adgdastl A in
larray([[ 6., 4., 9., 8.],
[ 5., 7., 2., 4.11). array([[ 3., 3., 7.. 4.],
[ 8., &., B, 3.11), arrayi(il 1., ©., 8., 7T.]
[ 7., 4., 8., 7.1D]
hspllt{a;{3.q‘}} -_-Ir.. P | L - | sgaet] s ¥ gaa -
[array([[ 0., 4., 9.1,
[ 5., 7., 2.11), array([[ B.],
[ 4.11), array([[ 3., 3., 7., 4., 1., B., B., T.],
[y Gy B, 3y Too s By TADN
: wsplit(a,2) wsgluis jude of] ddgdaa st
farray(ll 8., 4., %., B., 3., 3., 7., 4., 1., 8., B.. T.11).
arraylil 5., "Tes Zes Woy e, By (Wep Faw Top Hay Bag “TdlN]

olsl dg S5l @8gamo sl @gannll duis peis VLoVl Lasd wligansll wcli (>
89 JolS ,aisS @dgannll Couwudy bhid ((ssebw i) 8gamcll dp=ls o pi oS,5]

S| 90Vl Euais aJlll alio VI

8 LoSg s dp>1gS Losly wULLS of yaisS @dgancll drus wisy V 1igs (@=b) Jgb &al> s

:0bsl
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In [34]:

Out[34]:

In [35]:

Out[35]:

In [36]:
Out[36]:

In [37]:

out[37]:

a=arange(12)
a

array([ o,

1,

2, 3, 4, 5, 6,

7,

8,

9, 10, 11])

b
array([ o,

1,

2, 3, 4, 5, 6,

7,

8,

9, 1o, 11])

True

b.shape=3,4
a.shape

(3, 4)

view s pazuiows > saic sliw| Vg Sy Adga.m0 89 @9g0.00 WUy Fuwis Ul Us,l 13

10Ul (58 LaSs
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In [38]:

In [39]:
OQut[39]:

In [408]:
Out[4e]:

In [41]:
Out[41]:

In [42]:

In [43]:
OQut[43]:

In [48]:

In [49]:
OQut[49]:

c=a.view() # sl adgdan F dSpdanl] ag>le P
c is a
False

c.base is a #c and a share the same view only

True

c.flags.owndata #c does not have data

False
c.shape=2,6 #s5.5V] dbghamnll I i, V dSpdaall Jla sicai

a.shape

(3, 4)

c[e,4]=1122

d

array([[ @, 1, 2, 3],
[1122, 5; 6, Al
[ 8, 9, 18, 11]])

alioVl (58 LoS (COPY) @ls pasiass Sys] @gaan (sl JolS JSoiu @dgaan duwid Tusly

ra Ll
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In

In

Qut

In

Qut

In

Out

In

Out[55]:

[508]:

[51]:

[51];

[52]:
[52]:

[53]:

[53]:

[55]:

d=a.copy()

d

array([[ o,
[1122,
[ 8,
d is a

False

d.base is a
False

d[e,e] = 3333
a

array([[ e,
[1122,
[ 8,

#d 1s

NEwW

2. 3]1
6, 71,
19, 1111

array that shares nothing with a

#changing d does not change a

9,

2; 3).
6. 71
10, 11]])

2o Joleil) NUMPY @S Wa,dg5 sl 8,x58)1 Jlgadl (po @nuow dcgomo bhas oid laub
:a Wl bulg )l 8,05 oSeou Jledl auss _sle £ MWbWg duolall Lol,eW wléganall

CJLQgihcum“ SLALOXJ

arange, array, copy, empty, empty_like, eye, fromfile, fromfunction, identity, linspace,

logspace, mgrid, ogrid, ones, ones_like, r, zeros, zeros_like

wligsaoll G Jg=ill

astype, atleast 1d, atleast 2d, atleast 3d, mat

ologanall weMl
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http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#arange
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#arange
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#array
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#copy
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#empty
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#empty_like
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#eye
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#fromfile
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#fromfunction
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#identity
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#linspace
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#logspace
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#mgrid
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#ogrid
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#ones
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#ones_like
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#r
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#zeros
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#zeros_like
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#zeros_like
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#astype
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#atleast_1d
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#atleast_2d
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#atleast_3d
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#mat
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#mat

array split, column stack, concatenate, diagonal, dsplit, dstack, hsplit, hstack, item,
newaxis, ravel, repeat, reshape, resize, squeeze, swapaxes, take, transpose, vsplit,
vstack

lganoll dls e Jlgul]

all, any, nonzero, where

argmax, argmin, argsort, max, min, ptp, searchsorted, sort

obgsacll sle wllosll

choose, compress, cumprod, cumsum, inner, fill, imag, prod, put, putmask, real, sum

olgannll wbl asl wlslas]

cov, mean, std, var

gsaol) (sazdl i Jlgs

47


http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#array_split
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#column_stack
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#concatenate
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#diagonal
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#dsplit
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#dstack
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#hsplit
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#hstack
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#item
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#newaxis
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#ravel
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#repeat
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#reshape
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#resize
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#squeeze
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#swapaxes
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#take
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#transpose
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#vsplit
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#vstack
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#vstack
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#all
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#any
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#nonzero
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#where
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#where
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#argmax
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#argmin
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#argsort
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#max
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#min
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#ptp
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#searchsorted
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#sort
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#sort
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#choose
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#compress
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#cumprod
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#cumsum
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#inner
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#fill
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#imag
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#prod
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#put
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#putmask
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#real
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#sum
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#sum
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#cov
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#mean
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#std
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#var
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#var
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#cross
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#dot
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#outer
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#svd
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#vdot
http://scipy.github.io/old-wiki/pages/Numpy_Example_List.html#vdot

pSale oMol

(NUMPY) S 1,865 sl dausadl GlgsVI (o miSUl dwslodl dasu,VI gyl (b Ly
S5V GlosVl cpo Sl balg JI Lad,lg wgil asly wléganall go Joled! Jupwid dunlsll
aligh 810 s B ysinnd LplS Lp> s Us,l oy Lpio wliodl Jlid oV lp> s o o) sl
alioV by, aso (88w (NUMPY) @S 2 s s3> o0 sVl 98 632l 11 0gSuww 1iJg Ta>
Zrsitiow LS ax=l aue ) g9l wgospoll @i lp>si6 J sl wlosVl &) 2500
Lo=linig csloall aubill (sl Jos o> @zl s>Vl 018 (b lp> s o o) olsl sl

;W] guolgodl Gyl 13s (sd Jgliiow

s JSin pelaziiwly by weMidly wlgaanll yw,lpd
OLix als

sdazdl Lzl Jlgs

olsganall dalizall gloVl &)lao

dcgio Jlg>
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i £ 2> )|

a9g0.00 plazuiw! luSoy aild daludl @slacVl B all wligaasll @w,pd (sl @sloVl

In [1]:

In [8]:

Qut[8]:

:a Ll @lioVl 8 oSy Lu,lpall

from numpy import *
a=arange(12}

a
array([ &, 1, 2, 3, 4, 5, 6, 7, 8, 9, 18, 11])
ﬂ[ﬂ] B I, ey |r__.'_|;_,'l-" ol axiwl
B
a[s]
3
a[6]+a[2]
8
=arange(12)=*2 il [l ya lelacs ] puma o6, 12 Jol mas
b
array([ o, 1, 4, 9, 16, 25, 36, 49, 64, 81, 108, 121])
1=arra‘f{[l,1.3.4.5,5]} b ..-L--L+-:_A_-" A9 glsan
b[l] #Faus id gdms | ‘..;._“-_;_'-- if gdas o 1wl
array([ 1, 1, 9, 16, 64, 25])
c=array([ [ 3, 4), [ 9, 71 1) #o b, VI &, Lis ad piame
b[C] # dol=! af goan t gwpgod ¥ ol W aur Lis ad go.an FINT ¥ iy v
array([[ 9, 16],
[81, 49]])

0l sl @slol @8gam0 dwypal lpolaziwV stV 833010 Guypsll @dgans <olS I3l Ll
OloIVI clocwl Jugm duinS e Sl Wl Jliodl (58 LaSg basd pasiwnw Lpio JoVI sl

(Ol sl 6)9.0  od
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In [9]:

In [18]:

In [11]:
Out[11]:

palette = array( [

[e,e,0],
[255,0,0],
[6,255,8],
[e,0,255],
| 255,255, 2551

]

™
==

red
green
blue
white

o W W Q

)

image = array( [ [ o, 1, 2, 0 ],[ @, 3, 4, @] ])
# oMel azolll o5 gusmo ol Lldi 6, 9all oib a9 dasd IF

palette|image

array([[[ ©, @,

255, @,
[ e, 255,
[ e, @,
(L e, o,
[ e, @,
255,255,
[ e, 8,

0],
G}l
B]l
011,

B]l
255],
255],

e111)

) @l plaziwly WISCal aogi oSoy slell @alize ©légaas go Jolsill ol g0 1ala>le
lw >, oi sl (reshape

oz uwslpadl 04d Ol VIl @gannll slel (o as oo LSV (indexes) yw,lpd slacl Lol LuSoy
:a Ul @lioVl (s WSe pmesdl Gusio UgSH O

50



In [12]:

Out12]:

In [13]:

OQut[13]:

In [14]:
Qut[l4]:

In [15]):
Qut[15]:

In [16]:

Qut[16]:

a = arange(12).reshape(3,4)
a

, 3]
7

array([[ o, i
] ] ]
, 111])

1,
[ 4, 5,
[8, 9
i=arrayl [ [0,1], [1,2] ] ) #asgdmall o Jo¥l el yu,lgs
j=array ([[2,1],[3,3]1]) # adgdaall i lill 2ei )l yu,lys
ali,j]
array([[ 2, 5],

[ 7, 11]])

a[i,2]

array([[ 2, 6],
[ 6, 18]])

a[:,]]

array([[[ 2, 11,
[ 3, 311

[[ 6, 5],
[ 7. 711,

([le, 9],
(11, 11]111)

k=[l¢]] #Lg.d-f.l-'r\--wll o 647lg ddgduas a8 s les VI &=y id-lr LiitCa,
a[k]

array([[ 2, 5],
[ 7. 111])

9 LSy (Las ol o) ol (a>lg 9l y00) @uslaio pud oo WeSH L lpd plasiwl Loyl ¢Sy

ra Ul alio VI
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In [17]:

In [18]:
Out[18]:

In [19]:

Out[19]:

In [20]:

out[20]:

In [21]:

Oout[21]

arange(
a =>4

=1}
nn

array([

———
0o 5 @
-

b

12).reshape(32,4)
#labis El.‘:_g_).ﬁn: h_pi‘_)'_ﬂ dasla¥i cl.?_gLﬂ.d:.n_)'ll LR guds ,.J.:_J[_g_ﬂ_"l-'l 49 pdas

1, 2. 3].
5, 6, 71,
g, 18, 1111}

array([[False, False, False, False],
[False, True, True, True],
[ True, True, True, True]], dtype=bool)

a[b] # pwsgall bk $91oi pill a9 gdanll aud

array([ 5.

6, T, B, 9,18, 11])

albl=0  #iie gyl pesgit] bui Gins i)l a5 simal] pis S5 Jan

array([[e,
[4,
[e,

1, 2, 3],
e, o, 0],
e, 8, 0]])

als ix_()

Olpziodl WlgSe o @i glo;l Seix dzis e Jga=l) dalizeo Wlp=in gl pisuiwig
raJll aioVl aiuws leSg aelizeoll
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In [23]: a = array([2,3.4,5])
b = array([8,5,4])
c = array([5,4,6,8,3])
ax,bx,cx = ix_(a,b,c)
In [24]: ax
out[24]: array([[[2]],
[1311,
(1411,
[[5111)
In [25]: bx
out[25]: array([[[8],
[51,
[4]11)
In [26]: cx
out[26]: array([[[5, 4, 6, 8, 3]]])
In [27]: ax.shape, bx.shape, cx.shapd
out{27]: ({4, 1, 1), (1, 3, 1), (1, 1, 5)})
In [28]: result = ax+bx*cx #result of a+b+c
result
Out[28]: array([[[42, 34, 50, 66, 26],
[Z27, 22, 32, 42, 17],
[22, 1B, 26, 34, 14]].
[[43, 35, 51, 67, 271,
[28, 23, 33, 43, 18],
[23, 19, 27, 35, 1511,
[[44, 36, 52, 68, 28],
[29, 24, 34, 44, 19],
[24, 28, 2B, 36, 16]].
[[45, 37, 53, 69, 29],
[30, 25, 35, 45, 28],
[25, 21, 29, 37, 1711])

9 e S| Jroles sl oSoug @0,l Ml plazicwl pi dwspall oo 23Vl goill

string indexing sJUJI layl,JI
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http://scipy.github.io/old-wiki/pages/RecordArrays.html
http://scipy.github.io/old-wiki/pages/RecordArrays.html

:(Linear Algebra) o=l I

ra Ul auce ol asSoll sleaiwl Lpolasiwl piug

from numpy.linalg import *

:8,Soll 048 lpacys wl Jlgall @lioVl Lass 0idg

a.transpose()

(Bgi0 sl 10cVlg droc] sl Bgaall LJB) da8ganoll seuily slacy

inv(a)

inverse adgs.a0ll wgSso clac)

eye(2)

sdly Lpils=l dusy (9 )lesly syl sl (08 axly Sgixs sl el @500 (sdas
0Ll (09 oS gau

10

01
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dot(j,j)

solve(a,y)

trace(a)

eig(b)

dot product shsi wro wlbgeacll L al

(2) 4oud slV (y) dsbzll dsloll J>

(a) gaaall (sl shaall (8 pusll dcgozo

a9q9.00l) (eigenvalue) Jl aoud gl>))

:a Wl @lioVl (08 Jlgadl 0id gl slwl (Swus
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-

»>>> from numpy import
»>> from numpy.linalg import *
»»» a = array([[1.0, 2.01, [3.0, 4.011})
2>> print a
[ri. 2.]

[ 3. 4.]]

»>> a.transpose ()
array([[ 1., 3.],
[ 2.4 4.1])

»>> 1nv(a)
array(l[-2. , « e
[ 1.5, -0.3]])

>>> u = eye(Z) # unit 2x2 matrix; "eye" represents "I"
>2>2> 1
array([[ 1., .1

e X B )

>>> § = array([[0.0, -1.0], [1.0, 0.0]])

2>> det (j, J) # matrix preduct
array([[-1., 0.],
[ O =1:]10)

>>> trace (u) ¥ trace

»>>>» y = array([[5.1, [7.11)
»>>> solve(a, y)
array([[=3.]1;

[ 4.11)

»>>> aig(]j)
(arrav([ 0.+1.7], —1.31);
array([[ 0.70710678+0.3, 0.70710678+0.71,
[ 0.000¢ -0.707106783, 0.! +0.70710678311))
Parameters:

square matrix

Returns
The eigenvalues, each repeated according to 1ts multiplicity.

The normalized (unit "length") eigenvectors, such that the
column g B is the eigenvector corresponding to the
eigenvalue wii]

) aouw! (NUMPY) a@iSo oo x5 GwMS Jbs (array) Cswoawod! soludl JSupdl (I adlol
aliol o pasy 0iddg (array) wlaslge e bo 1> (oJl Aalizo wlaslgo alg (Matrix

"ol wiwl
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In [29]: A = matrix('1.0 2.0; 3.0 4.8')
A

Out[29]: matrix([[ 1., 2.],
[- 3.y 4:11)
In [3\’.]] t}"ﬁf:ﬂ\: F a9 gian asd o g ,_-'.1_-"" Uall A

Out[30]: numpy.matrixlib.defmatrix.matrix

I [3].] AT [ C o
Out[31]: matrix([[ 1., 3.].
[ 2.. 4.]11)
In [32]: X = matrix('5.8 7.8"')
Y = X.T
¥
it[32]: matrix{[[ 5.1,
[ 7.1])

In [33]: A*Y

Out[33]: matrix([[ 19.],
[ ]

In [34]: A.I #inverse of matrix

Out[34]: matrix([[-2. ; 1. 1,
[ 1.5, -8.5]])

:(NumPy) a.iSo w0 (matrix) g (array) g w a1l (99 ,8J1

> 8 (Bl o sac Sy asly am Gw 29lw) skl sac wls wldgaao sa (array) J -1
Logoc iz wld wWligsae sd (Matrix) Jl

b il usss lpls an,all Gusts Joss acoil] puslpall -2

J20Vl SJg ggidl uss o ©gaan) Lu,psS Josi Ul (Seu (Matrix) e65 oo wlgaasll -3
2 (list) ol (array) elaziwl
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el Gw)lpd ausS shay 105 dwypd o) uceidl o JS -4

NumPy ausSol awle ga>9 ulay

vy Jliodl [idg aslsdl s sac Sl pasiwl csiss (17) Gusgsd plasscwl ol Taulw U,Ss

1,5l

U0 dA=0 dcq9 Wgaall o Sa=xo sac ) Joxi Ul Ws,lg aic 30 o Adgan0 ) ulS 13
ra Ul assdall g Lol oSowd pudd] ausy dyaxi 3,0 Y &iSg sl

In [37]: a = arange(30) #ioir 30 lged a9gdun
2 a.shape = 2,-1,3 # wwliall a9, einiwl Lo lices a7lg wflw dasd
>>> a.shape

(2, 5, 3)

1, 2],
4, 5],
7. 81,
10, 11],
13, 14]],

[[15, 16, 17],
[18, 19, 20],
[21, 22, 23],
[24, 25, 26],
[27, 28, 29111}

o> sudlg (histogram) JI adls eaceioww (numPy)_ aSo plaziwl SLLJl pow)y) T,plg
axio 9 Bgsacll plytoiwd oy wlpzioll o >9) 8255 Auzo Agsan (sle lpapby
(LWiladl Jio hist aoowl) Lail plycgiwd (sde Sgqixi (Matplotlib) ausse ol b)Y . jw,lpell

ol plyegiwgdl @ls Ol csamwsyJl Bally (NUMPY)JU Lolsdl olyégiuwgll oo alisy sillg
6yl SULI ooy (Matplotlib)dl plycgimd cu> b had bl &>, (NUMPY) duSios
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In [39]:

import numpy

J.npurt pytah

mu, 51gr|a =2, 8.5
v = numpy randum nurlallnu 51gma 186088 |
h 58 bins

Pl

F 188688 norm

al

deu

rates Wiln variance 8.3°4d and mean g

pylab hiSUU I:uns tl nl:llrntd H

# matpl

otlib version (plot)

pylab sho‘.‘[]

W Comput e histogram with numpy and th ot

in, b:nsr = n|.|n1p5|I h:stngramw bins= 1'] nnrrnel:l-Irue] & Mu version (no plot)
pylab.plet(.5*(bins[1:]+bins[:-11}, n}

pylab. show

na
or
ne
os
4
03
oz
ol
{110)

os f'\

04 fJ

: ' |
0z / X
M

00 — —=

oMl (599 all el Ol 8 yoinll Wijss (58 (NUMPY) &S (e szl spiiy Lid (sl
Liliol (8 lpoazivmsionw silly dpalell Ugisl WliSe po )3l &uiSe pe Lozl luiow polall
9 lpic Jroladl a3lS sl oSay wsally (SCIPY) &S sy bl ple oo ddibiaoll
(scipy.org) swoww,Jl lp=dgo
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oSule Ml
a0yl Jlso (sd 5lgd o ,uiS) Luvg (NUMPY) @iSs bt @sslod] ol yolsenll (s

all &S, (sle o pSLacy WSy pedly wloganoll logasg 6 xSl oLl ge Jolaily duslsl
[(SCiPy) ausSo sdg VI Ll ael) )3l duole ausSo & w

SolaSoll 0 41516 (sd b oye Jlgl 5, 18 dla

ULl 8o ol adac £ iy Jpows Jlgsg wlosl 1855 wluSoll 0is ol @bl Llg=l

e o0 sl 121 s pisaw osll Blosll alioVl (8 lpale Jasll Sgi5 osull 8,5
ol asl oLl ols) wlgsV

&9,20 ple JSuiv zlizw Wbl G 8,u8) GleSlly ULl ple go Joledl 0l @sle 8,9.a9
AuSoll 04 gy 9 ade S w b buall 9ag (linear algebra) wsdazdl ju=dl 9

SciP NumPy) o w )0

bl o s ail, duSo d (NUMPY) auso 0l Ldye Lol yo9,a0)l8 erw Lo

ol oSy il wlusdly WlgsVl o dcgaze (sle (Soiz lpil > Leil asly auelsll

b ULl ple 58 Tolaziwl LSV 815Y1 S)y wsmwlsd] (88 aunl,Jl 23losdl Jz) oo
osinSoll 5o JS a,dg cailly shsVl ale sle VI 8sasi0 wligaaol

(NumPy) ausSo juss s (SCIPY) auSo uld aizo JSiu
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bas2oll Jlglls Gl wlosylgsg duodall obluwsel) dwlwVl olaSoll (w oo Lasl (g
LoVl Llel (28 dgw ooy Logsl csisy Lo (NUMPY) @Sl slaiolS duno Lpisl

Al el Ol Gyl 1id (58 eUs Jg> uiell (sle & ysiiow g

ple) @uSoll 038 (o azlizs Sl bo @820 Sygrall ;od «Juoladl b yogsll Judg Lise

e 3S 5w ellidg Tas Wgb Udg iU 18 Lpluoles JS 2y dases @S lpsl cus) wblll
oo aalizall glgVl go Joledl @,6.59 wldgsaodl JSLa Jouis j90Yl 0idg (Jass axliz b

osdazdl ezl Jlgs s le wldgancdl JSLal weMul duaSs bl

9 s S 2 pi 289 lpox>g LpdSiin weMidly oo Joleilly wldgsaodl slivl yogax
{(NUMPY) &S0 1,855 wsdl Jlgal JS) azelo csle Seizes wsJWl bl Jlg @bl Guwg,l!

NumPy Cheat sheet 3,L;J La ,85l

lizo lozslid (SCIPY) @uSs wsd lgs go Jolely ozl ezl (sl 6,ilio asiw Uidg

oo W Seug 1ugSUYI go J=all duain il (SCPY) auSe wl (sl 8LVl oz el Jud
rsJUl Jliadl (59 LaSg Loy Lokl laoVl jaxd e @uuSel] shwwl JUs o s

In [1]: from numpy import *
import scipy
scipy. wversion

'e.19.1'

NumPy &S shusiwY JgVl ,ha !
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https://s3.amazonaws.com/assets.datacamp.com/blog_assets/Numpy_Python_Cheat_Sheet.pdf
https://s3.amazonaws.com/assets.datacamp.com/blog_assets/Numpy_Python_Cheat_Sheet.pdf
https://s3.amazonaws.com/assets.datacamp.com/blog_assets/Numpy_Python_Cheat_Sheet.pdf

SciPy auSo s|uiwY ol ol
SCiPy auSou polsdl oVl Loyl cJUl el

rauiSoll 04d wlesl go Joleil law wYlg

| Olawlwl

dcgazxo 8,Le 989 bzl 1zl 09 Lsewlwl popao gag :(Vector Space) assoll slad
azioll Ol lale .axiall slad o alll 2y% Ol Vs upio 2o dliSey s wlpinll o
a9g2.a0Jl (89 dgoc gl Lo LGS, 18

8 Liodss LS U5 o ,Sous ((NUMPY) &uSe plaziwl wligaaslly wlpioll L)
;e Wl aay ol plasicwl of dailul g,

script.py Python She f-)

1 .
2 myVector np.array([1,2,3,4])
3
4
3 myMatrix np.matrix{ng. randon.randon{{5.5)))
&
T print{my¥ector)
8 Im [1]:
9 rint{myMatrix)
Run

wldge.a0 Lpaowuws wligeasll dlid jlesl (o dolic el LS wldgano go Joladl duic
Lpaounisd HlaoVl o Judd sac (sle Sgixi sl wlogaanll bolg (Sparse matrix) &s,ai0
(Dense Matrices) aauSJl wldga.asll
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506 U 589 sloowVl (50 OWisl 5,50 (adg 1pe0 e sesail 13d 9ay 18 oVl alagl
W ek Ldg dwaisd] gy Lpodsiouig @8y g0Vl 01 wscly il awodell wluSedl duosl

ol dac

aeuSJl wldgaandl go lpoaziuug scipy.linalg

ad a0l wldga.anll go lpoixiug SCipy.Sparse

1olgaanll o g9 JS sle skl oSy wlidoc dac liag

In [6]: import numpy as np
from scipy.sparse import csr matrix
csr_matrix((3, 4), dtype=np.int8).toarray()

Out[6]: array([[e, 0, @, 0],
[0, B, 8, ],
[6, 8, B, 6]], dtype=intB)

In [7]: | row = np.array([@, &, 1, 2, 2, 2])
col np.array([e, 2, 2, 0, 1, 2])
data = np.array([1, 2, 3, 4, 5, 6]}

csr_matrix((data, {roﬁ, col}), shape=(3, 3)).toarray()

out[7]: array([[1, @, 2].
L8, 8, 31,
[4, 5, 6]], dtype=int64)

HS) ioJ | wlloxll

oSy a2l @slsl wligans sy wlpzioll Ul (NUMPY) &uSe 0 llw ang, o5 LS

Zrblly goxl) pz=dl pusin WeSS Ul by e ausdl o)l wldosll <l,>g lp>,lbg lp2o>
13Sag
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In [8]:  print{row+col)
[@23 2 3 4]

In [9]: print{row-col)
[ B&=-2 -1 2 1 8]

In [10]: print({row*col) #oJ L lall seisll, saic S5 o
[B 020 2 4]

n [11]: | print{row**col)}

[161124]

n [13]: print{np.dot{row,col)} #dot product
8




1-JgVI g g inedl gLl aely WULLWI Jd=5 :28-0ugiul
a5lS g alll do>,9 pSule oMl

Molal silgsl ol,SIl sig]

Lioug Lpolasuowl aawdl gwoludl o @lioVl o ,uiSlly Uil a2l Olowlbwl bi> s Ol as
cde ST 58,8l Sl dac Wisyg apdlall pugyll o bl Julxad Ol liSo 2 in
(a5liubnio SLLl ple oo £5> 58g) Lol ael Wbl Jud=i ausna=dl gs)liwelly @lioVl

£ ginnd] Al &S Csde Touid @ ludl Gwe, )l (9 @8 20 oo luad pSk Lo Jssows ol Wbl adg
b ST W wadd ol Jud=sd JgVI

osde Jlaiodl £ MVl duosl Sl ol wyeSHl s o gwys JS @l adg 8slalls
ool S csde eVl i 0l Jinss @l Sl @ il 835ladl ppd Oloual (wyeS)l @lgise
ool i (sle £ MbVI L6 ai Lol

Ol ,SAL oz Vil dsly ULl Jd=id (oo JScin 99) wliaSe dac 2)uin Lad Ol aey

29,3l Sl Julzis @xdlong Loys shhuiwV &y50509 dope Sy wluSo Jls
doudy ololinwl (sl GLLul sz oSl oLl ple ,oe> 98 lisg) lplg> wlsbuwl,
00,2l Lig) oo csill oluSall ool aails obsl (a8 (duwwioll of &S uinll

A8y Ludl gyl (89 lpue lhaxs 189 (NUmMPY) ausSs -1
Lol @aaludl Gwe,adl 9 Lpslowlwl U,S5 189 (SCiPy) dusSe -2

) plreginmpdl oo T 853250 By SLLI pow, Lol paziiusis (Matplotlib) assSs -3
uouai Us)l @ls (09 13Sag &,y Ologuw,Jl (sl axlg oz soludl pow,JI (sJI (histogram
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8 W ouziw wsidl @l sl Ldg Tyl Lpic Wass wsdl) 1ngSUVI diy puss s wlogw,)l
e U sadl LS (SJUI 5l VI a0y dUs Joe (Send (gl

ipython notebook —pylab = inline

& Jgzeiiownd auiSall 048 o pow) el Sl 3uais 5009 5leVl 1id paziws o) Ol blg
sy Lpude Usgss sl wlp=lgll Las walizs 148 waies WMl apuline @ (sJl 135gSLYI
pSawliy Lo Joe (58 o) Ll iy Ldg LWlodl plaziwly (ud izeal] @oiMe ,iS| ouas A3
& LsJl Baimoll GVsleoll @3loV (Latex) cswlsll 5y meoll plaziw! guaiws Ll 6,LoVU iz
.Sl 038 plazeiwl Lpoow,) 1agSUl

29 ay0)l) AlSapall SULIL CeMily dxdlen) runsi, JSin o ((Pandas) ause -4
s> Wl wlghsl) Ul sraxig lpsd 81, lpolasiwls pgiiws (Jla>

wsl el (machine learning) aiSlodl pulss wlesl Laizs sally :(Scikit Learn) @uSe -5
SlosVl o Sl Seins aoill] 01s b LoVl @Ml sl plaziwl ily o3 18
ULl axdles Glebs oo 1oyuis slel Juliis gromdly caradl Jio oUlul 2o Jolsil

AulaxVl a>ieud) (Statmodels) auss -6
oMel asl Jl auSoll plazuwl by pi 43y .aslasVl ollll Lo ,e) ((Seaborn) &usSe -7

Olxaaiol] GUll wlauiy Sl wl>gly adeladl wlogawyJl sLav) :(Bokeh) auso -8
Loyl piSays (D3.35) aay &ay8> Sloguw sbisil o pasiamell (Ses lpil cu> aya=ll

) e wsdelas elsl L9953 Wil cus GLLWI oo @lle GleS 8o 6w acun Joledl
.(high-performance interactivity
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ac;goll WLl g0 Jolei) (pandas) auSoeg (NUMpy) auSe adlesd 8505 (Blaze) ausso -9
2clgd Lping s3lan dac o GULul (I Jgogll roaus Lpil cus (séus=dl o3l ©Ulog
Jo=ig (.Bcloz, MongoDB, SQLAlchemy, Apache, Spark, PyTables, ...etc) Jio UL
bl @auds bg,ce pSxi wisg) sl wluSell &y go Wl

Joa=ll Jled Joc )| ju=i sl cus (web crawling) Seeadl Jd=adl :(Scrapy) ausso -10
o€ zal) oyl @390 SV dgy)l axaall o 1aws 0l LuSoys wUludl (o digzo blosl (sle
Wl JSJg 990l S 3l duee WLy

sl daodl SlaobyJl oo 1o 8,8 Wlosl Seizig @uzo,l wblwzl) :(SymPy) ause -11

wwoldsll Jogaill 50 go lpolasiwl Sou Lavly @Sl cbsually ashisiodl Glsll Wl !
.(Latex)

) Gwlisll vgil sl Al JScin Josis wugll (I Jeogl) ((Requests) auso -12
oyl &b oo LusS Jpwl LSy (urllib2

alioVl Jaw 58 lp>lixs 18 caillo) osull sl asly ool 995 (il S5V ©liSall oo
(igraph) ¢ (networkx) auSog wlaloll go Joleily Jueuiidl plaid (0S) auSo o (&1,Linollg
WLl (08 diuso o SV (regular expressions) ausSog awogaw,Jl WLl go Joleill
BeautifulSoup) &uSe Luslg @iluwdl Gwg,adl (o Lpic Linss sl dowlball yoledl plaziwl
w9 Axao o &uo dseay Sl e Jga=ll Jesi pisly (Scrapy) aussel gLl (
JolS 890 (0 =\J_Lg da>lg

al>,0ll sl S Ul Jalxi) panlial] pslaSies wginl a8) wlwluwl Wdye ol as; 0Vlg
: > M logac <lis oy wlgsVl 0ia plasiwl wULJl s cadg paV

aalizo B,y gruas WULLII Lo, 85le U3 piug :(Data Exploration) oULuJl Glasiwl -1
Lold=sg Ly eMdb sadl a8 Lpopd @glxol
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wbldl wais al> ol 0id JUs pag :(Data Cleaning and preparation) wUluJl wadais -2

Judsd ausni=dl ©loos,lgdl plaziwl pgis Lag :(Predictive Modeling) &gl é=inil -3
((sindzdl 2 p0ll I bd) Lo adudiume wliuwss wlsboaw! (sde Jgaxlly oLl

:(Pandas) auiSs plasuuwl WULWI W LiuSiowl

: sy LoSg (Pandas) @S e wlowlwVl Lass @,20 oo 1 ¥ bl Glasiwl sadl Jé

(series) alowdud] lodg WLLJl 8o Joled) (Pandas) auSo 9 Huwwlwl Guogpio JUd
S>>l LUl o dg0e ol o il (sle aluudoudl W2 > (dataframe) oLl JSudg
Obldl JSud bl krsd axly yaic Seizy dgoc JS 9l o JS Ol Gy pwspang (1D) 2=l

(rows) Wgso o WS SVl 8530 WLly dnle 8,501 989 (Excel) JowSVI alo auiin gp9
row) >gosdl w99 wwall jwypd M3 o jaic Sl sl Jaogll (:Seug (cOluMNS) éaoclg
.(index and column index

Lpsles] pl & yin S (Wl bayl,Jl 8,55 (Siow @Soll 04a e wlogleall oo Ju50Js
(L ,85l) uosipoll

L Ws La5l) W bl Jl (sde el @bl oSou lpde Josiow wsadl oL Jusiid oVl
]

:oMel Ll (8 bgsaaoll alzoll (sd @l wlaloll lgass Ol Ubyisoll (o Cus

train.csv
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http://pandas.pydata.org/pandas-docs/stable/10min.html
http://www.mediafire.com/file/3tyn6exhntnj5jc/data%20science%20project-1.tar.gz
http://www.mediafire.com/file/3tyn6exhntnj5jc/data%20science%20project-1.tar.gz

3] ypaizo (CSV.) 03lxioly wuyaid) Goaziwedl LU alo gdg

bl plle o Tas &5l slaswl gag 85,las @Wgadsll pusll i comma separated values
test.csv

g ino 09 0ghiy pgdiw Sl 2590l )LizV paziwell alall go9

sample submission.csv

grinoll &ylps (58 Aoy poas Ol 4oty SHl waledl JSuid Jlio 9o

ol dunlle @iluo oo 55> 98 1id Licgymive 0l 98 palauil) Jlio wilo 50> shg unlly
s Ll o ald] Jgogll (Sieus UL

Analytics Vidhya Loan Prediction Practice Problem

9 yilg=dl S Louye disluwoll s Il ad Jazwidly oMel @8g0l) Jgzdl (Soy >
seall &l

licg piios yolsdly @l 838LJ1 saslive oSy g8goll (s Jumenni] ssg
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https://datahack.analyticsvidhya.com/contest/practice-problem-loan-prediction-iii/
https://datahack.analyticsvidhya.com/contest/practice-problem-loan-prediction-iii/

'._fa.m;wlumqnp
g Ve

.-'\/‘An alytics Vidhya

Loan Prediction
Practice Problem

cntest ends in 255 2 g 43

i o sbond L troks n ecEnctogles et mm.mmuusm- Fow can find
1 wiari poe dnin sciwsce joumey aing Lecel, fl 2 B

o @

Jgazl M5 o gabiwss Sl g3sall sde B)aily £9,inll wlalo Jisits liad Ol asg qu
aa>g dll ayley oSS (all el Ol auliainll g, Linolls) g9,iall Lig) Wlll (sle

g licg o 58 oVl dglazell T s sl Guyadl (58 alll sl ol pSso JoSis

Ll BLaSiwl

S Ll 8 2gsinodl pwjeSl (baruidy Brain) Qo) (s @oslall Ywgyally puyal i

L 65l
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https://www.analyticsvidhya.com/blog/2016/01/complete-tutorial-learn-data-science-python-scratch-2/

@S g Al dos>,9 pSule pMowll
oMolall (silgs] ol,SUl (sigs

data) wblul GlaSiw! g VI oLl Jud= J>lo oo oVl él> 0l (sl pSee Llog
190l 8ac Ll Ol wsl eUs s ,SJg (exploration

Lol Ld8g (goludl Gwyadl (o8 licgyinn 59 lposswiwiow wsadl wladlodl Josin Lod Ul asy
o] 23904 alog (testing) iVl WLl log (training) sl wbly wlo WeSiLw
1hd Weass ST Sy gaosall pul Ul sl Hlaisl wlalell 018 (sileo lixosy

ULl =i (sle 5318 (model) 23905 sLiul 9o ple JSiin ol Jud=i oo Woagll
oo Oy 23900 w0l 2y Wil (uisew auolo sl @l wldaso (sde Telu adusinoll

A B o) dma> Wbl (sl zdgoidl 14 Budais o985 5 lp=xilo Oy Loa) aslw wlly
aAidl) Gemimodl uid Zuogi Jglxiswg Lpio JS wl>sxo (s o @920 Vg lp=o Juolwi U
Ad=i wlghsg g9 uinoll 2, slil ST (HLasVlg

551 laglan sl oSaus) slaisl sas 140 Legmise 8 wallall I 8,LaVl ;12 Lo
(bl sl 58 6,95 300l £yinnll axio 28 is Voo

p5 Ja) uo,all gl)l > go (umo Bran po LA1BVL Il uiblge Wlly Lillacl o5 L
Slogleoll auing yo,all )] s @Me syl Lo wsllolly (V ol Lpidy (b oyl 3yaws
Ja 8,8 adloi>l saxy yoyuacl) J3>l Jaso gl duseill alldl ol o 1JbeS) s,V
S5Vl Ol psioll auty le abniy sosid] Gudis (SY ol uoyall el Lo yitoll pgisu
posdd (predictive model) ozl 3900 sl pgis sSJ @8MeJl 01d 49,20 (o 825lallg
(L2hidW b iy Ugegismw SN sazll Gaoyisoll Ol Jo Jusiwedl (59 ULl

Il (s Uaggsin Ugosiinnw osill) ppililey Jlosly 1is ping SV ol po,all £l Usogiaww
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aoizoll (silasVl Guoazil Taues 23 JS pi ledoy LwyeS)l 138 (9 auwiiow Sl z5g0ull
aJlaxVl sle

8Ll acldy ,olgVl Jhaiw oo 135gSUl 2wl 1aw (g ladl Lwyadl 09 LS LaSg 0V
ipython notebook

Gaassd)| @p>loll W spki > i iVl gauaio J515 (89 1yl Lindss oS crmpdo JSit
Sy poii pi powl (Sb irois pgiis (PYthon 3) gei oo i wale sLisls posi gwoliyll
1CTV RRV-S

DA

%pylab inline

9 s Ll oS) syl 38195 (89 Gady 838Ul punss (09 o, auladl US Jeso pgsid
&Sy (NUMPY) Sl dudlyllg auogw I Jlgall slhswl oMel 5leVl o919 ((solodl Gl
siall oo padll &l powy oSy @y @lls pawy wyzs s HLisVg 8,ule (Matplotlib)
a1 8,901 s LoSs dmozdl sl
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: Jjupyter data science 1 (sicsses) @ Logout

File Edit View nsert ell Kemel Widgets Healg Trusted  # |—",'|:'- 3 O

In [1]: %pylab inline

Populating the interactive namespace from numpy and matplotlib

In [2]: plotiarange(s)

Qut[2]: [<matplotlib.lines.Line2D at 8x7f583cBa%efa>]

4.0 4 /
35 4

304

251
20 4
15
10 4
05 4
0.0 4

LSl @aslos luSodl Jlgs shyiwl 2l olieo 1igs pow )l dsus Wi, WY oV
: aogoll ©luiSoll 5wl
numpy, matplotlib,) wsa Lxols Jesell s ol bshucwl zlizs il @ Jl olasoll

2ol pgdicw Lol VI oMel JgVI 5leVU logio cuiniSeo Jsl >|)¢1.w_l._; Lod Wil pe,9 (pandas
120gSLVI e 8,51 a8 Uglosi pisS @ls> (88 Laul logd shusow VIl wlsgS

In [3]: dimport pandas as pd # i.i%s ol 1.l Pandas
import numpy as np # iaife 3l siicel numpy
import matplotlib as plt # 4% o/ ool matplotlib

df = pd.read csv("/home/mustafa/Downloads/train.csv") #w il ol L a2l .9
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W8 oMel 5¢8J1 & s OV

LeJ (pd) powl sbewlg (pandas) ause shucwY (gdedl (0 uo 98 oS JgVI Lol
Wy ol o) awsdU sosuid] Ludsg

Led sl (train.csv) wu,adb avlsdl oblul waled 85,9 928 golJl Haawdl ogazs blg
(read_csv) &l> _sdg (pandas) éuiSe ow 839>g0ll dclyall @ls plazuowl lalw al
LpsleaiwY &l powl Jud ahss o5 (pd) LJ obsiow! Sl asSoll puwl gogs Led Lil JasVg
Jaclog OVl oo wlaSell 0is Jlgs sleawV dolell das )l (s 0ing

awgd Sl a>9550 Lwludl wloMe 1oy (train.csv) walodl U3 slasel gog Led Tuslg
(df) aocwl jusio J=1ou (@lodl U3s) 2uldl slowlg alall

loll o0 oVl Jgazdl Lose liSaou waloll 1is (58 UL (sle sy 8,k sy QI
10Ul s LoSg ool ymiwl 1y sl sVl sac Lassg (head) @ls plassowl

In [4]: df.head(7

Loan_ID0 Gender Married Dependents Education Seif Employed Applicantincome Coapplicantincome LoanAmount L

0 LPOD1002 Male Ho 0 Graduate Mo 5849 0.0 HaM
1 LPOD1003 Male i, 1 Gradusle Mo 4583 1508.0 1280
2 LPOD100S5 Male Y [} Graduale Yes 3000 o0 86,0
3 § Mol = 1A . p
LPO01006 Male Yes 0 ’ Mo 2583 2358.0 120.0
Graduate
4 LPOD100E Male Mo o Gradusls Ma BOOO oo 141.0
5 LPOOMOM Male Yieg 2 Graduals Yes =T 4188.0 267.0
B - Mol -
LPOO1013 Male Yeas 0 S No 2333 1516.0 85.0
Graduate
k

Ja> JS Ol Cume Jgazdl oo dcgomo Jlid Sy lSe wbludl (o Jaawl 7 Jgl dclibn Lnd L
Ll Lolyeiwl o 35l B 0idg avlizo (data type) wlly aucgy ol
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0Ll (o9 loSq (describe) waogll @ls plazuiw! Sy @ued )l Jga=ll e anle 8,k iV

In [5]: df.describe

Applicantincome Coapplicantincome LoanAmount Loan_Amount_Term Credit_History

count 514 000000 514000000 592 000000 600 00000 Sig4. 000000
mean 5403 459283 1621.245798 146 412162 34200000 0.642199
std 6109041673 2026248369 85.587325 65.12041 0.384878
min 150.000000 0.000000 9000000 12.00000 0000000
253% 2877 S00000 0.000000 100000000 36000000 1.000000
50% 3812500000 1188 500000 128000000 35000000 1.000000
T3% 3755, 000000 2297 230000 168.000000 36000000 1.000000
max B1000, 000000 416E7.000000 700 000000 480 00000 1.000000

SLlusl @iy S Lsoll BlymiVlg Jasolly lpcoomos dund )l Jga=l Loy o8 il las\ig
hsd 4,081 Jga=ll 5,5V @,

Wio) @l wlly Sgixs Jga=l Las vl zluiwl guaiws wlbaeoll 0is JMs> o9 WVlg
1iSaq (ApplicantIncome Jl o J3l ldsac loanAmount

Uz g (1o Whie (58) U5e,8 sle Jgazell oaoniiodl wlel of oz gahiws clis
245 ,0 Ji=o g9 %84 ¢a (Credit_History) swo )l du,b Josoe 0V 3o, du,ls

) slacwd) g3gillg (ApplicantIncome) (puosssiodl J>uJ aslaxVl Guwlaoll JMS o liS
.(orientation) a=gil Luas log) laadMS ul s, (Expectation

Jog L adMellg dlico e adgl 6,k 33 GULIl polysiowl JMS o gudnisus dole 6)5.049
J51 ko Olas Lo jlaie 55U; ow @8Me 39> duso 8,Lal liphs (trend) ,azo asei Jus
AS_ioll ol gkl 88,20 S )95l oo Sohzll 01d (sdg S,5VI WMl Elgil (o £ Sl o
Jlxoll 138 (58 paiseos @leiwVl Gl Vs) paise Hai dp=g oo L slailly Lpdslis (sl
il (58 @as MUl olghsdl samaw U3 0V (Jglasdl opd sd dacluwol)
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b b Lyl Byei oo JS 1S5 s uoye Layl liSowd auod, sl pusl) anuidl Lol
t sSJW 5V M og Vgl lpaw @8Me Jld Jdg dginog duilio

In [6]: df['Property Area'].value counts(}

Out[6]: Semiurban 233
Urban 202
Rural 179
Mame: Property Area, dtype: int64

20l Jaloo

(a0 V) Olyuziol) 9 pssjer dwlys gabias Slilol) dowlwll Laslazl &9,20 a9 OV
e Jgazll uoasioll J=5 Jaso o9 lpale Vo Wy au08,)l wlugiall Ly dalizoll

plaziwls (Histogram) cssldl pow,l ol plrégimpll ooy pesig (Applicantincome) s,
rosJUl 5V

In [7]: df['ApplicantIncome’'].hist(bins=50)

Out[7]: <matplotlib.axes. subplots.AxesSubplot at 8x7f5029ab7400=>

200 4 i
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ApplicantIncome usiod) csolud! labazeal| pow ) pasuows sl (hist) &ls ol Wi, Loyl s
lis Juioidd (vl (s3la=VI (08 blaidl sace gl (bins) Jl sac gag 13| Joleo o wuodziowl
@l o minglly yaall o dsluodl (58 Ugeis uoddiall wlel Ol lh>Wg (348> JSiin peioll
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.Sy oVl da=iodl WLVl (8 j8all Sqiun UgS gl Lasxio S>> e Silg) @l Vg
@l anzdly @l Gus,Vl die ©lie8 sae Jid az S go SJy wsdlaio sosuis 99 (JlioS
1iSag | Ugiwg duosg

roods LS ells Joe LiSioud (box plot) dasyba pow ! plasicwl Us,l 131 Ll

In [8]: df.boxplot(column='ApplicantIncome"')

Out[8]: =<matplotlib.axes. subplots.AxesSubplot at @x7f5029a7T080=
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T
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&,k (ApplicantIncome) nsioll 1is oue wblul) gu3edl @us, bkaiw! Ll >\ Liag
b u2all ylga)l sdg Wbl audel (e sauss (outliers) 3L OV 3929 un willy S,
eVl (a9 85,950l

U5 poww pgiig Guoddiol) sl Sgiwoll Gug &gl 13d ¢ byl Jgl=id WVIg
r Ul eVl (a8 LS9 (Not graduated g 2wio ju€ ol graduate g =) =l go (uordioll
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Boxplot grouped by Education
Applicantincome
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Ibd Uy U,leie ozl uee Gumu,zdl S Jase Ol g buiw! gudaiows oMel pow,l o
Ol e @i 0389 Guznys el ppildl o Sy (el Jo5 ©Vasey Gzl po sl
alysoll Jud=idl wlghs (58 lpolaxiwY WL 8 lpasy

tesly oSy oMel ity b wollnodl yoyall Hlaio pawyd Y9
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In [18]: df['LoanAmount’].hist{bins=58)

Out[18]: <matplotlib.axes. subplots.AxesSubplot at @x7f50299877b8>

In [11]: df.boxplot(column='LoanAmount"'}

Out[11l]: <matplotlib.axes. subplots.AxesSubplot at @x7f50298207T0=
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T
LoanAmount

Judss (sl dsla Wil csiss Lo el ooyl US (s 8300 oud s Ll 5,5 oS

ol sl Gugy | (58) Judsadl wlghs oo aulil sghsdl xd U pgiiw Lo g9 wblull sacl
(all sl
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Categorical Variable Analysis au.09, yll Ul uioll Jud=i

:a Wl 8,900l (28 uso WaSs wlgsl dac plasiwl Us (Sous

story” ].value counts{ascending=True)
e(values="Loan Status’',index=['Credit History'],aggfunc=lambda x: x.map({'Y':1, "N’ :8}).mean()
Credit History:')

In [14]: templ = df['Credit Hi
tempz = df.pivet tabl
primt ('Frequency Table for
print {templ)

print {'\nProbility of getting loam for each Credit History class:')

t (temp2
Frequency Table for Credit History:
8.8 a9
1.0 475

MName: Credit Histery, diype: intéd

Probility of getting loan for each Credit History class:
Loan_Status

Credit History

8.9 0.878652

1.0 ©8.795789

U39 (templ) aocwl jusio 9 Loludl Lllay uodsiod) swo)l u)l @owd U Lod s
9 LSq lpicldny Lod pi (temp2) jusiodl (88 Jga> a9 V gl acls)l oo Jag wo,8ll all>
oMl 8,9.0]l

plaziwl LSk, (matplotlib) ausSell plaxiwly duogw, adyyhy Sy sesaid] pusr Joslg
:a Ul sl VI
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In [15]: import metplotlib.pyplot as plt
fig = plt.figure(figsize=(8,41)
axl = fig.add subplot{121)
axnl.set xlabel('Credit History')
axl.set ylabel({'Count of Applicants’)
axl.set_title{"Applicants by Credit History®)
templ.plot(kind='bar']

ax2 = fig.add subplot{i22)

temp2.plot(kind = 'bar')

ax2.5et_xlabel({ Credit History')

ax2.set_ylabel( Probability of getting loan’)

ax2.set title|"Probability of getting loan by credit history*

15 Text{®.5,1, 'Probability of getting loan by credit history')

Applicants by Credit_History FIgllahlhr-,r of getting loan by credit hastory

400 o 08
5
B I
H 2
¥ 30 & 06
5 &
kS B
£ 20 = o0a
5 &
8
: ]
10 < 07
L oo
a = ao az o4 06 T ] 10
= =] ’
Credit, History Crede_History
OB wem |can Status
[
LT
(L]
[T}
3
L ¥
1l
DS
» =1
Credit_Histery

MsloJl 2ol 58 dosssinodl i 1S > (sl dpulie whslaVl Cléls aoly oo LoSg
Slgizo) powl iSg (y-axis) sslally (x-axis) sl Hgmol) slocwl @loly UL oo,
.(sub plots) auc,d wlogu, dac sl Wlogwl puiiy pow,l) Olgicy pow,ll

&b pps) oo Gaosiial) wlhe Wledy ST uo 8l £lrsiwwl U0y Ul guaky oMel puw,Jl oo
aldlg dumg3)l el aplie Wlogaw, pow) Swoug duid! o LS| (Credit_History) awo,
Py Wglxod 8,99:0ll WL Y gl yo,8ll €l iwl dlxy Lpis)liog Wd,ucq duanbyll

OV 0dd w aAdMl e wsluawl

10Ul (9 lSg a>ly JSoir (08 cmoaw,)l Rozd 8,31 @i, b g
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In [16]: temp3 = pd.crosstab(df['Credit History'], df['Loan Status'])
temp3.plot kind="bar', stacked=True, color=['red’','blue'], grid=False

<matplotlib.axes. subplots.AxesSubplot at 0x7f50296ea558>

Loan_Status
. N
400 4 . Y
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0L -
=]
[=1

Credit_History

oS 3> sl swo )l 80U o yosell Al Blgi sy s

lliiwl zgynl aalizell UL puwys uore Brb oo slewVl liSey S b, La sl
Jlgud! e @lbW e G sl aswidly @alizeodl Olugioll o @8Mel (e 6,540

Lasl 131V ol wgllaell Lo,a)l Lo, (sde Jgazd) pasioll guos &S ,uidl pods Ja 1S, dg=l
S5V Glogleall (o 1o yucs dualally duxglly aradboll aidl>g ailudl asy,b LacVl Hay
ol ) puasil e dio lpeos pay sl

)L£LC>L 99 e Joi Sl g9 ,i0ll Logasy dxoly ol 9oVl Ul assicl dhaill 0in (I
HEVIYULY

poi Ul eliaubbgg (ad Josi Sl oS)ldl Brandl gl) iS i (58 Wlludl Judxid Laiso il
lgold Jag yog,al) aslpl sl g Lpiw U5 Gud Rl Mol asyLudl Ll go

15] Wiod 5,5Vl &l pusinll o Slg 3aowid] pac o @Me slow] Jglsig V gl i

l9ogss o) Lgiw ;Y93 10000 e pplss Jaso Jo1 cro JS Ol (9 ymirel] @lps (s8) camiiin]
iy osdasy Ol Lz s Ol G Sl g3geidl Ul oliso 1igd (Loy9) aids (o8 (o8l i
apwlwVl pogaonll 98 1idg Lgiw ,Vgs 10000 (e pplss Ji oo (slubimo padio JSJ (V)
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eSU1) 939 LIS Lpugiz Sily 0uSVI sosod] gl blosVl jurod ol @iSloll pulss gl WLl pls)
(sclilanVl

byl 98 (2ywidly bl o>l go) wey Ml 048 jaa0d (Giludl w,yl (59 U)S5 LeSg
(wokoVl snmoll 8,03 La L6il) I

8>Vl sghsl) Lpsiapsd S| Lpadaiig UL Judse Tasow s dostall gyl (sd Ug pas]
J32lly uiaill Olojyles saki csdg
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@S g Al dos>,9 pSule pMowll

Molal silgsl ol,SIl sig]

i35 ki) ULl allon Alyo sy SUlull ulas Jolio oo ailil al>sall I ilos

dghzll (58 lpule wriaily Jd=adl ©lioj)lss 3=l Baubai) 850> oS ()9 pz=l) Julasg
Lo lg2ilid aoslall

Ul 0985 O L lpl> s osall JSLisall (oo acgazxo Lpad Lnzxs wlll SlisSiwl <l

data) slooll @l @l>yoll 0id (o JSLiwoll 0is J> pisg wsilpidl Jul=il) 850l
OV v leasS| sl JSLawdl Lass olsl (s89 (munging

e by (Bolbadl )l (09 L) Uil (sidly) wliusiall paed é3g880dl pusll sy lis -1
el l.g.u.mNg d>g800)l LULIl auoS (sle el dwlio pusy Jolazdl S ¢ Jo Lde

auslpll

pd (g8 (Cellaoll o8l laso)g (Logr8ll sle Jsaxll puoasioll J=5) pud ol Ly -2
oudll) daclall Wlss V> 399 wsams Y s slelyo Lginy ldg Jasall e 85L0

Jel=dl JloS| LS Lpizedlee wmd (Jasoll o au sl

2l Olhusioll (89 pusdl pipgr Ul Ly =8 auod )l Jga=l (a9 JSLiwodl 0is (sJl a8loVig
Jaazl dglxod b ucq pudeidl Sgiiwog sldl a5luog uuizdly dusg3ll dll=dl Jio a0,
B3a00 wlogles (sle Lpio

:qalizeoll Ol psioll (sd d3gia0ll pudll (585 1JoVI bglazell
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UaS wolS o) (sux>g alolS jue wlogleong @adl Jgla> go Jolein V Jud=idl wlwoj,les wdel
Lo @i,k lpilo @glog 839800l pudll slwl Vgl wuze il duslhio yue UgSiw zulidl Ll
laSg (pandas) &S plaziwl (NaN) gl (null) Sgizs sl & lall Jga=dl oo Cazeiow Vsl

1oLl Jladl (59

In [18]: df.apply(lambda x: sum{x.isnull()),axis=0)

Out[18]: Loan ID 0
Gender 13
Married 3
Dependents 15
Education ¢]
Self Employed 32
ApplicantIncome ¢]
CoapplicantIncome 0
LoanAmount 22
Loan Amount Term 14
Credit History 50
Property Area B8
Loan Status 8

dtype: int64

Wol Ugs2eall Jgazdl o sgac JS w9 (isnull) ae,lall pusll sac gl>,U stV 1is 098 Cu>
&loiSo Ll Sl a0 855880ll pusll sac Lpud bl Las Sy oSy (Af) ool juziodl (s
.50 9 3 G 2ol 839890 pud LS lpasig

b o0 oo iy Jolazdl 0 el ol lpios wblul vlaia) GlowVl oo st s

el ol B0 =g puoaziwe Wlogleo gl iyl &3lge o WUl 2liziwl o985 Cuwlg>
ol Jga> S| Jgia> s Loy Ugosis o> aid dwol VI Jgiazl seslo (sl Ugluoy cpmoiinall
3,b dac Jlpd bsgaandl GULl 0id go Joledl &xasS ope bolg gigo S| ad Juzend!
rSJWl bl (08 Jraasidl a9 puine

Juaedl wisgssoll 2o Joledlyg UL BLuSwl Gw)> 3,03 b 6l

fosds bow Byl 0dd pausli Seug
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16 LpiSJg Lpiblund d1u80 @ss,lll 03y Tsgase @ilyusio a5l 0lS 0l WolS il Bis -1
olpdl 2ol sle 585 sl @9yl Slogleodl oo Sl 1885 Ll

ol iale Loz Wby sgaedl b S5Vl pudll Jase Jiod douss 4 lall wUSol s o -2
usiodl 2Us 28 pusl) oledl Jasoll (e 85U weSs ) @8lian)l doxsll oid

ULl 8395 womzwg Jlgiodl gl buowg)l Jio Jagall jue )31 puis 85gaa0ll ousll £ o -3
Sl powy pgii boaied (WLl (ode aslasVl wldosdl (8 wlowlwVl Lass zliss La)
ol (mean) Jasell Jg> dcjgin wllul el ol Ja 8,20 guninws o sg0c 59 38,9950l
aelall Jga=dl lpy Wovg Yloss! SVl doudll lizud aue ol Jlgiodl gl (Median) owsll

151 Wsad 5,5Vl daocVl (1o 85g800)l Glogleall ¢ o) duidl 810cVb @leiwVl Loyl Soy -4
Jago i3l JWs o das> By V LSy alghb Bye =iy pasain wols &l Ja=dl ols
lid U8 "coce” Ol gudaiws 8,9g50] Vool go Luad Jghll &lie p5 &UYlg 95l Jghll

9 839>90 alolS Juoladl LS S .13Sag (female) sV of (Male) ;S ¢a sgaaoll Ja=l

oMel kl)Jl

LuiSios wolhadl Loyl lado o ae,all Jeasdl ¢ Jody licgyuiog Wlio (sl g5 0Vl
skl (pandas) auso plasiwby vgil asl elis pus @bl yog,8ll Jasey Lptlo @bl
.._s\b l.oSg .l>|9
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In [19]:  df['LoanAmount'].fillna(df[’'LoanAmount’].mean(), inplace=True)

In [20]: df.apply(lambda x: sum(x.isnull()),axis=0)

t[20]: Loan ID [¢]
Gender 13
Married 3
Dependents 15
Education [}
Self Employed 32
ApplicantIncome 0
CoapplicantIncome (¢]
LoanAmount 6]
Loan Amount Term 14
Credit History 50
Property Area ¢}
Loan Status B

dtype: int64

bl 5kl audss Jud 22 OIS (IoanAmount) JI (sd é3gasoll Jgasdl sac ol s\ Liag

Jgs=l) Jagoll douss ol lpilo pi sg02l 138 (9 Jgazdl JS 0l Sl a0 pwsl aiub asug

s aloc 1y SU Jio) JolSio Julxi 23900 sl (b @gno S| Sy31 9, Jus lab

s il pe,) Jugb wdg a5l adasll 0 SJg 39880 Jo> JS pud (uosd had (&gl
ada)l ois JS glicw Jog wllul ol ba Hladl (s oSy (0Ll wlel (b Jdl golis
Lp=sliog ULl @uedl (sde L8l aoiss ladog V ol wlelall ¢ og Judzdl s

wols Joe uoyall Ll pasieldl Jos Ja i (self employed) sgoc s wlel,all ¢ o) 0Vlg
FsJUl 5LVl (09 oSy 5,85 05 Y axly pSg o Ay oS Loy w985 Lipd V ol (Loldl A lu=l)

In [22]: df['Self Employed'].value counts
Out[22]: No 500

Yes 82
Name: Self Employed, dtype: int64

Ol sapshll 09 (NO=500) Ls1s ¢rpabogo lgms) o Lo8ya)l calla) (pmonsizall culél ol Loug
sosos Vg @lois] LS adosll Tab) ,iS1 W,1,S5 oV (No)o ae,lall Jga=l ¢ Loy pgis
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09y Ol ity iy uilaiog dullous SUI LasY SUludl Mo IS5 55 Lidg Ugann
sithioll Julzilly aloasVlg slasVl Jio 5,5V oolsll o SIb lolo wUlul o
(ldyacq

r sJWI 5LVl plaziowl (NO) dowss Ja=dl ¢ Jou pgés
df['Self_Employed’].fillna('No’,inplace=True)

(median) buws)l Gl poas dls sLish ogi Lo sgoc JSU dulas)l 0 1S5 izl o
: Il 5950l (s LaSg Ly wlel,all s Jog S,5 V1 Jga=ll

[2%]: table = df.pivet table(values='LoanAmount', index='5elf Employed' ,columns='Education’', aggfunc=np.median])

de% fégcrxiz '
return table.loc[x['Self Employed'],x['Education’]]

' df[ ' LoanAmount ].flilna:df df[' LoanAmount'].isnulli) ] ,.apply{fage, axis=l)}, inplace=True)

Lo JSJ (Median) lowglb Lpido o5 28 Jga=dl S 0eSs Ol Lo yiay 1ipug

S(extreme values) as,bioll pai)l axleos pgii LauS

ol Ja Wy2ow JWlg o JSJ duslhinlly éloszeoll pus)l opd llw LS WS ppoll oo
(Gugamxo e wlyab) Jazall (oo 8ausy LSty aiihin lpil ol duslio yueg 83Li ppill Lasy
bar) 80Vl &,k doow, LSow Silly wglhall Uo,8l laio gag s (sle Vo i3Ulg

: sJWl 5LVl plazecwl (chart
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In [36]: df[’'LoanAmount log'] = np.log(df['LoanAmount’])
df['LoanAmount log'].hist(bins=28

Out[36]: =matplotlib.axes. subplots.AxesSubpleot at @x71912c263198>
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a9, lhioll pudll @sdlea) B8 )l a5l (sdg Lp) (transformation
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In [37]: df['TotalIncome'] = df['ApplicantIncome’] + df['CoapplicantIncome’]
df['TotalIncome log'] = np.log(df['TotalIncome'])
df['LoanAmount log'].hist(bins=20)

Out[37]: <matplotlib.axes. subplots.AxesSubplot at 8x77912c14b208=
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.(CoapplicantIncome) ,Scudl &l i 9l Jao 3l pasioll J559 (ApplicantIncome

oS - gLl 5902l Lolsdl (10g) Jl ad Linigs 1ua> sgac sLioh ks lind 1ol ol
(Onp.log) &Sy (NUMPY) &iSo oo (10g) Jl @ls lioaziwl puoly oo
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90



4-JoVI g g iodl gLl aely WULLl Jd=s :31-0gil
a5lS g alll do>,9 pSule oMl

) sl 25900 sby (58 Jiows osilly WUl Jul=i J>lho oo 83Vl > yall (sl pS20 Lilog
Ay ludl Gwg)yadl (58 WUlJl diapiy Lo Ol =y Uginl asly (building a predictive model

) o Lo ol (SKicit-learn) auSo o §uiidly uozdl 25los sl (o9 bolozecwl LSV assoll
r Ul el o Leluolss (sde g MbVI (Swou saillg (sklearn

sklearn) auSeo o lul, 3L La 65l

a6 Jsa> ez V Julzill pasciunall doall ol 18T 0l s blal Jalxs sl 8
;W 5l plazeiwl el o

In [43]: df.apply(lambda x: sum{x,isnull{}),axis=08)

t[43 Loan ID
Gender
Harried
Dependents
Education
Self Employed
ApplicantIncome
CoapplicantIncome
LoanAmount
Loan_amount Term
Credit History
Property Area
Loan Status
LoanAmount Llog
TotalIncome
Totallncome log
diype: int6d

DR ODDDDTODDE DT DD

Dy p2io JSJ @, la)l Jgazll sac Lo, oMel eVl OV aids Jgazdl JS 0lb la s, lSe
ey go wwliss puty Gludl pw,dl (58 Liloy Led eu>) slasl LplS =l o (09
.(>90c JS (trends) Jguog Wl usio
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Wby s &8 )l Jglazdl go Jolei @Sl 03 l LpxdasMe vz sl @opoll 190Vl o
5981 plazeiwl &g @ued, wlilu (sJl (categorical data) @auwd, e wlly Sl Jug= e

In [6B]:

out[68]:

from sklearn.preprocessing import LabelEncoder

le = LabelEncoder()
df['Gender']=le.fit_transform(df['Gender'])
df['Married']=1le.fit transform{(df['Married'])
df['Education']=le.fit transform(df['Education'])
df['self Employed']=le.fit transform(df['Self Employed'])
df['Property Area']=le.fit transform{df['Property Area'])
df['Loan Status']=le.fit transform(df['Loan Status'])

df.dtypes

Loan ID
Gender

Married
Dependents
Education

Self Employed
ApplicantIncome
CoapplicantIncome
LoanAmount
Loan_Amount Term
Credit History
Property Area
Loan Status
LoanAmount log
TotalIncome
TotalIncome log
dtype: object

object
inte4
int64
object
int64
int64
int64
float64
float64
floated
float64d
int64
int64
float64d
floated
float64

sl

iNt64,) awd, oud (sl oludl loeg Jg=i 18 lpizdleoy bnd (sl Jga=dl JS ol Ld >\
va (e Sgiz il g S i ad wilS s> (Dependants) jusioll lac Lo (float64
P9 98 LoS aS,i lied > (3+) pustdl (a9 loginy bl Uy 1)l Vg 590, s csill pusl
8,058 8,k alSLinell 04d asdlee S @il lode aa>WI Jul=adl wlghs s alssb pis
el 0l @oslall g, Lael) OVl 0is dxdles &g 8,90 bl H50Vl (siw Ul Lob,l Luslg
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Wbl Lol Jgadl Jousy pg8i (silly waniailly Jd=dU aolzd] wluSedl slhuowl pgss OVI
) bl (g.8:dlg a80Jl Clus &o uosadl 5900 W 22w (training data) ., !
.(cross validation

ol Oloj)les e o @liol 2rubg driwl potiuw ggriroll 11 (59 1ala>\o
o< S| Juolas 48,209 (Classification and machine learning algorithms) &Slod| pulsig

b ¢8 Leiwl e Sl (&e,Liwedl wdeV aul o) waunail @ls slaul pgas OV
Jdd =) Shiow WSq (parameters) LpiMoleog wasiaill duoj)lg>

from shlca n.linear mnde 1mpor: LDQlELLCRCngSSLGH
from sKlearn.cross validation import KFold #Fror fold cr validation gbliial

from sklearn.ensemble import RandomForestClassifier
from sklearn.tree import DecisionTreeClassifier, export graphviz
from sklearn impoert metrics

def classification 'ﬂdul(muﬁci. data, predictors, outcome):
model. fit{datapredictors],datafoutcome])
predictions on training set Loy wud® pam i -
predictions = model.predict datalpredictors)
atcuracy = metrics. ncturat; score(predictions, datafoutcome] )
print [‘Accurac 5 {6:.3%}". format {accuracy})
#Perform k-Told cre validation with 5 f aid b L ok
ki = KFoldidata.shape[8], n Tolds=3)
error = []
fer Lraln test in kf:
Lraln prfdlciurs = IdaLaIurcdltLerE] ilecltrain,:]1}
train target = data[outcome] . iloc[train]
# Training the Iigoritnm using f predl ars iadi pa o [s
model.fit{train predictors, train target)
#Record error from each cross-validation ruv itk el wlivani Il sova
error.append (model.score(data[predictors] . iloc[test,:], dataJoutcome].iloc[test]))
int (“Cross-Validation Score 5 *{8:.3%}".format {np.mean{errar)})

moﬁéL:filddala[p;caLciﬁrsl:aain[oulcuicll -

il Wbl wsde wanaill wloj)lgs sadai pliall lpiogs @sle (function) Jies oMel g3l
testing) )LVl Wby e Jussowodl 9 aduudaid ol 23900 glul i (training data)
.(data
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ow by Ol seubll 08

credit history) sws, du,b peud) uidl Guoddiol) @il ST 0gSs Uo,all gls) o,s @
& Ludl Wl (59 oldasV Lo liag (

9 ppeo 3| yazn UeSling Guill paosisell Layl 1S WSS Uoyill gl adloi] @
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In [75]: outcome var = 'Loan Status'
model = LogisticRegression()
predictor var = ['Credit History']
classification model model, df,predicteor var,outcome var

Accuracy : 80.945%
Cross-Validation Score : 80.946%

Lol o (credit history) sws,Jl gu,b dl> gag z3g0il sl bhad s>y pusio Josb liad cus

lecls)l pi) Losall s Loy Sl jusiodl (spd (Loan_Status) L) Jgogll s (sl asuall
.(Loan_Status) 0ia Ll (88 (v wsidlg (V ol

corss) gblaiol (x93l @i cuos sl Judis %80 o S| (accuracy) asall ol s ,ig
Causdl 0id @ Lod (validation

&b liioll 9491 Cross Validation

obly (sle lpadag (training) diso wlly oo ol powy Ol gz ple JSiu z3godll
training) Jaad u,aidl Gllo Jsb bed WY bdg zobadl dseo Hlase pusw pi (testing) s,
&525) @glaio s3>l dac (sJl u,adl vl ULl &= pess glblasoll (§.9a:dl ausid (
398l o) @glaio guoleo 5 (sl GULUl &5 2590l Ujusl Lidl> (59 g (algaine
il 5 (sl ULl &2 08 25g0udl Ul Ld Jua> Sillg .(0Mel anlell alaJl Lol
training) w3l Gblo b Ul Tuse asliucw! ade (sig lpio da>lg i3l o5 duglunio
testing) Ll Wbly Wpuian) asuoell ae))Vl guolxoll (sle aslisowl (audais o8 oi (data
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owlosVl 3l 33l 8,0 JS (89 whho 5 adosl slel 13Sag zluwVl @8 ,Lasb o pi (data
dosll Jusy9 aslizoll

t Wl Jbiodl (58 LSy (wuyaidl bl Jgas cod o) Sysl wbl adosll éslel Lusoy

predictor var = [‘Credit History', ‘Education’,'Married’,’'Self Employed’,'Property Area']
classification model (medel, df,predictor var,outcome wvar)

Accuracy : BO.945%
Cross-Validation Score : 88.946%

(5,5 @lioV) Lpouss @801 0gS5 V 288 @dao (adg) Lid Lpwss @Bl Ol S g

Decision Tree Model) ,l,2J1 & w 2>

lpsleniwl oSy assludl @syyhll o ST ads dsle L8955l wapiaiy Julss dsy,b (sag
ra Ul @aioVl (58 oS Lpaulaig

In [77]: model = DecisionTreeClassifier()
predictor var = ['Credit History', 'Gender','Married’, 'Education’]
classification model(model, df,predictor var,outcome var)

Accuracy : 80.945%
Cross-Validation Score : 80.946%

In [78]: #We can try different combination of variable
predictor var = ['Credit History', 'Loan Amount Term','LoanAmount log']
classification model model, df,predictor var,outcome var

Accuracy : 89.414%
Cross-Validation Score : 67.909%

Ol sio Loaseial LigS pe, sVl aayall dygluse uilS oVl @l (58 @81 Ol o\l
Tab > s 909 %90 Lyl Lo (sl @8l wsls asldl Al sb o,SJg daliseo
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i Wl basled ooy @il 25l oo Tawses LS| ,5| Julxig wniai dunjyle> g
8 lsinll o JS andl W ous @89aan elnl psiiow 5 Clssiall JS (e lpsubs
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n [88]: model = RandomForestClassifier(n estimators=16@)
predictor var = ['Gender', 'Married', 'Education’,
'Self Employed', 'Loan Amount Term', ‘Credit History', 'Property Area
LoanAmount log®,'TotallIncome log']
classification model(model, df,predictor var,outcome wvar)

Accuracy : 188.8868%
Cross-Validation Score : 76.228%

csde @Vs g9 bo legs wanseo aiSlg ,Siou Lo Jiadl g9 %100 @8> (sJl likog Lil L s,
el B,k el LiSey &US (o Lalzdlg (over fitting) @l> s>
2590il 131 (sl @l ol ol usiodl sae Julss -1

2590l WMolsos Ml -2

logio JSU pgss Lges wVlg

[&1 #freate a i Wit importance
featimp = pd.Series({model.feature importances , indexspredictor war).sort wvaluesiascending=False)
int (featimp
TotalIncome log 8.282891
Credit Histary 6.272377
LoanAmount Log B.251326
Property Area B.049638
Loan Amount Term 8.844713
Married 8.828626
Education 6.8235913
Self Employed 0.823524

Gender B.8220994
diype: float6d

oMel 2390l el dulac (sd Al olusioll go JS anudy Ui ous aaan sk Liod Lo
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In [83]: model = RandanorPsTC13551f19rln estimators=25, min_samples split=25, max_depth=7, max_ features=1)
predictor var = ['TotalIncome log’,'Loan&mount log','Credit History','Property Area']
classification mndeltmouel df, Dredlctnr var,outcome_varl

Accuracy : 82.248%
Cross-Validation Score : B@8,135%

corss) gblaioll (x93l (o asslil @l SJg bhas %82 (sl cuasssl &l ul L s\
ol (over fitting) Jl oo Lalzadl (sle dau> @oMe 0idg (luwdl o Jadl caxwol (validation
J8VI e 0,50 Julss

) LVl obly e gdgodl 3o (i (sddg 6,05Vl dglazdl (sai )90Vl 048 S 89,20 12
9,V Ol wuyaidl oblo Jlwowl pess bhsd Tas Jpw sosuis gdg (testing data
z3los ol Ldlss| Jud Loyl wadaidly @il (ol glizs Ll @asMo go @ilud] @iVl

r Wl puogidl (9 oSy . Jud=idly wawiaill

In [61]: ytest=np.ones((368,1))

In [56]: |# save the model to disk e/ Lis guls 19 wilo o8 guaxill pigai iz
import pickle
filename = 'finalized model.sav'
pickle.dump(model, open(filename, 'wb'))

In [62]: |# load the model from disk gbas¥Wl sl ) 6anar ol by e juanill pigai guihi)
loaded model = pickle.load(open(filename, 'rb‘))
test=dtest['Credit History']
result = loaded model.score(test,ytest
print(result)

180Vl (oo i)l Baiogis pl8y grocxll 3161 16 0sSy O Jal (e gVl licgiso (g i (5l
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